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ANSI-C $53#&

SERETH D, UNX DIESEFERYAA TS, =1L OBIEIZ X TO R 08

1

raise — send signal to program

DT7IVE A LRBICEEGEEX

sig atomic_t TR CSIBRIRE T —42 8
EHADEEZAAITEN)IAENLLY
volatile J‘:Ef) WS TIOERTDH(LORIPT vy ashiily) T—42E
97\7’)[// \URSTIL. sigatomict ERXTTHLGNS
BTN\ REZSHEEZX, DBEDESREF
l
volatile sigatomic_t atomic_value;
typedef struct
{
union
{
volatile unsigned char mem08[4096];
volatile unsigned short int mem16[2048];
volatile unsigned long int mem32[1024];

volatile unsigned long long int  mem64[ 512];

} access;
} USERDEVICE;

TILFIOy ST, EREHETSHAICIINE

IBMDFFHE
C9X Extensions
//
unsigned long long [int] long long int;
long long int = OLL;
printf“val %lld” long lobg int);
ANSI C Extensions
long float == double
long double

8 /31| double

AR

TR X 912 32bit il LTV 32bit =3 = L—3 3 2L 64bit R Tl T — & A X%,

T—EIA R BT ST A 32bit JRZ R 32bit TI 2 L—v 3 VOBE [

main()

{
intx;
printf('char %d¥n" sizeof(char)); char 1 char 1
printf("short %d¥n" sizeof(short)); short 2 short 2
printf('long %d¥n" sizeoflong)); long 4 long 8
printf("void* %d¥n" sizeoftvoid*)); void* 4 void* 8
printf'int %d¥n" sizeoflint)); int4 int4
printf("unsigned int %d¥n" sizeoflunsigned int)); unsigned int 4 unsigned int 4
printf("unsigned long int %d¥n" sizeoflunsigned long int)); unsigned long int 4 unsigned longint 8
printf('long int %d¥n" sizeoflong int)); long int 4 long int 8
printf{'long long %d¥n" sizeofllong long)); longlong 8 longlong 8
printf('long long int %d¥n" sizeoflong long int)); longlongint 8 longlongint 8

i printf('x %X %d¥n",&x sizeofl&x)); x FFFFD780 4 x FFFFESFC 8

}




POSIX % & Linux

IEEE POSIX1003.1 #2432 X7 L0—)L#R#& (ANSI-CHUNIX & X7 La—)L)
IEEE POSIX1003.1b 7 JLAA LFGHE

Y7 ILAA LI BEGHEEE T OER (AR D) DS TRIBIELI-ED
IEEE POSIX1003.1c AL vRR#&

1b EIFERRICRAL YR ERRIBIELI-2 D

Linux® POSIX 1Z# (LT D1ERIE POSIX.1-2001 DRFY) (TEME AT LDEWEEAETT—RAD Yk
ZELBRL TS, LA, DA T71—RI(FTBIRFTRETHY . A/ A ILEFH AT T—ANERAFRENE
TANT HHRET AT IO &, EITHHIT AN B30  sysconf(3), fpathconf(3) pathconf(3),confstr(3) H3&H 5,
DITILAD)TRTIE getconf(1) ZESITEMTES, 5HMlllE sysconf(3) ZBERIT BT L,

POSIX AEEHDZRI-A T3> - AT a3 EFARD=-HD sysconf) 5IEHDLRI-(AIREES(E) FEFIZE
UWERBAZECIR T B, KYIEREAEEMIL POSIX 1Z4£BBIZEANTLVS, POSIX Z#(X45 HTIEX Web THH
[Z7HERTES,

ADV — _POSIX_ ADVISORY_INFO — _SC_ADVISORY_INFO 200112
TR\ ZDEEEL
posix _fadvise(),
posix fallocate(),
posix_memalign(),
posix_madvise()

MFET B,

AIO — _POSIX_ ASYNCHRONOUS_ IO - _SC_ASYNCHRONOUS IO 200112
Ay <aioh> DFIET 5. BEEK
aio_cancel(),
aio_error(),
aio_fsync(),
aio_read(),
aio_retum(),
aio_suspend(),
aio_write(),
lio_listio()

MFET B,

BAR - _POSIX BARRIERS - _SC BARRIERS 200112
DA T3> POSIX THREADS & _POSIX THREAD_SAFE FUNCTIONS 77 a BB DRIZHEET S,
RE%K
pthread_barrier destroy(),
pthread barrier init(),
pthread barrier wait(),
pthread_barrierattr destroy(),
pthread barrierattr initQ)

MFET B,

— — POSIX_ CHOWN_RESTRICTED 1
CDA T arNEDEGIGEE (POSIX.1-2001 TIXEIZAERD. root 1A IJ7AILFAEEDEREFHFSN.
root ISMEIT7AILDT IV —TEEHDFART DT IL—TD 1 DIRET BEL TN TES, THIFUT
DRI ZB2E 95, chown(), fchown().

CS - _POSIX_ CLOCK SELECTION — _SC_CLOCK_SELECTION 200112



AT avlE POSIXTIMERS # 73 ZiERNRIZIEET 5. B
pthread condattr getclock(),
pthread condattr setclock(),
clock nanosleep()

MTEET S, CLOCK REALTIME HE8%K clock settime() TEBEINT-IGE. ExFHEICEHRT 2ETDRAY
Dt ybMEET S,

CPT - _POSIX CPUTIME - _SC CPUTIME 200112
clocklD CLOCK PROCESS CPUTIMEID MY R—kEhn TV, ZOVOVIDHERMEIL, £TOEREIZ 0 &
155, CDA T av(d POSIXTIMERS 473 dREEDAIIEET 5., B clock getcpuclockid) ANTEFE
T35,

— — POSIX_FILE LOCKING - _SC FILE LOCKING REE
CDOA T av(FHIkRESNT=, XPGE FfRRRIZIEARLY,

FSC - _POSIX FSYNGC - _SC_FSYNC 200112
%K foync) AT Do
IP6 - _POSIX IPV6 - _SCIPV6 200112

Internet Protocol Version 6 A\ HHR—kEN TS,

— — _POSIX_JOB_CONTROL — _SC_ JOB_CONTROL 1
DA T arvhBaiiigE (POSIX1-2001 TIXEIZAR). ¥ X T L [ POSIX ARDTaTHliEz
ELELTHY. B

setpgid(,

tedrain(),

tcflush(),

tcgetpgrp(),

tcsendbreak(),

tesetattr(),

tesetpgrp()
WS 5.

MF - _POSIX_MAPPED_FILES - _SC MAPPED_FILES 200112
HEB AR R—bEN TS, 1 7IL—KT7A )L <sys/mmanh> MTFEET B, BAE mmap(), msync(),
munmap() HEFEET %,

ML - _POSIX MEMLOCK —_SC_MEMLOCK 200112
HEFAR)HNAATRAICOVITES, BAEL mlockall(), munlockall) H3F 9 5,

MR/MLR - _POSIX MEMLOCK RANGE - _SC MEMLOCK RANGE 200112
& YEHMIZ. EiFZ7NICOYITES, B8 mlock(), munlock() MFET 5,

MPR - _POSIX_ MEMORY_PROTECTION - _SC_ MEMORY_PROTECTION 200112
B4 mprotect) MTFET 5,

MSG — POSIX MESSAGE_PASSING - _SC_ MESSAGE_PASSING 200112
A9 IL—KI74I)L <mqueueh> DTFET B, BE%K

ma_close(),

ma_getattr(),

ma_notify(),

mq_open(),

ma receive(),

ma send(),



mgq_setattr(),
ma_unlink(Q
WIS B

MON - _POSIX MONOTONIC_CLOCK - _SC_MONOTONIC_CLOCK

CLOCK MONOTONIC H\HR—hEhTULVA,
ZDFTLavlE POSIX TIMERS A7 a % iEBRONIZIEET 5,
FELZ T HEMILITOREY,

aio_suspend(),

clock getres(),

clock gettime(),

clock_settime(),

timer create().

— - POSIXMULTIPROCESS - _SC_ MULTIPROCESS
CDOA T av(FHIRRESNT-, XPGE FfRRRIZIEARLY,

— — POSIX.NO_TRUNC
ZDATLarhENEIES (POSIX.1-2001 TIXEIZAZN). NAMEMAX K& Y
£ LA\ RZOEBRERIUIVEH SNV, T5—I245, COREITERK
BEZO/N\RIEEHICIKETA580H5.

PIO - _POSIX_PRIORITIZED IO — _SC_PRIORITIZED IO
AT aVITIERER /O DEBEEIIEETELEERT  CNITLTD
RS E T 5,
aio_read(),
aio_write().

PS — _POSIX_ PRIORITY_SCHEDULING - _SC_PRIORITY_SCHEDULING
A2 I—KT74IL <schedh> WTFET %, B8k
sched_get priority_ max(),
sched_get priority_min(),
sched_getparam(),
sched_getscheduler(),
sched_rr_get interval(),
sched_setparam(),
sched_setscheduler(),
sched_yield)
MEET 5, POSIXSPAWN 183 IBS(X. %k
posix_spawnattr_getschedparam(),
posix_spawnattr getschedpolicy(),
posix_spawnattr setschedparam(),
posix_spawnattr setschedpolicy()

DT B,

RS — POSIX_RAW_SOCKETS
raw VIR IR—LEINTUINS,, 3285 21T HREII LI TDEY,
getsockopt(), setsockopt().

— — _POSIX_READER WRITER LOCKS - _SC_READER WRITER_ LOCKS
DA T av(E POSIX THREADS # 7S a 2MEERDMNIHEETS . & (C
POSIX.1-2001 Tl& POSIX THREADS #A 7L avIdZmA TS a ZmBERNDAIZ
BET D,

E3E3

200112

REE

200112

200112

200112

200112

200112



pthread rwlock_destroy(),
pthread rwlock_init(),

pthread rwlock rdlock(),
pthread rwlock tryrdlock(),
pthread rwlock _trywrlock(),
pthread rwlock_unlock(),
pthread rwlock wrlock(),
pthread rwlockattr destroy(),
pthread rwlockattr init()

DT B,

RTS — POSIX_REALTIME_SIGNALS — _SC_REALTIME SIGNALS 200112
Y7 VAL LT FILHHR—EN TN, B
sigqueue(),
sigtimedwait(),
sigwaitinfo()

DT B,

— — POSIX_ REGEXP — _SC_REGEXP 1
DA T arhNEWEISEE (POSIX.1-2001 TIEEIZARN). POSIX IFHRFKRIN
NYR—bSh . B

regcomp(),
regerror(),
regexec(),
regfree()
MNEET D,

— — POSIX_SAVED IDS - _SC_SAVED IDS

Z DA T arh BG5S (POSIX1-2001 TIXEIZHZ. 7°|:|t;<l¢1%7$
(saved) set-user-ID &F1F set—group—ID D, 22E4Z(TAREEIILL T
O)EL)O

exec(),

kill0),

seteuid(),

setegid(),

setgid(),

setuid().

SEM - POSIX_ SEMAPHORES - _SC_SEMAPHORES 200112
A9 I —KT74)L <{semaphoreh> MTFET 5. LK
sem_close(),
sem_destroy(),
sem_getvalue(),
sem_init(),
sem_open(),
sem_post(),
sem_trywait(),
sem_unlink(),
sem wait()

DT B,

SHM - _POSIX_SHARED_MEMORY_OBJECTS - _SC_SHARED_MEMORY_OBJECTS 200112
3k

mmap(),



munmap(),

shm_open(),
shm_unlink()
WIS B

— - POSIX SHELL — SC SHELL
Z D AT arhEEIES (POSIX.1-2001 TIXEIZAZ). B8 system()
NFHET D,

SPN - _POSIX_SPAWN —_SC_SPAWN

DA TLaviE, FIZIE MMU DEFELALVEE DEBBICEST, fork) &
& BT BENEHLLMRAIREL LSRR T, TR REFEYR—hT 5
E%ERY, POSIX SPAWN DBEINIIGE, A2 IL—RT7AIL <spawnh> &
E3E5

posix_spawn(),

posix_spawn_file_actions_addclose(),

posix_spawn_file_actions_adddup2(),

posix_spawn_file_actions_addopen(),

posix_spawn_file_actions_destroy(),

posix_spawn_file_actions _init(),

posix_spawnattr destroy(),

posix_spawnattr getsigdefault(),

posix_spawnattr getflags(),

posix_spawnattr getpgroup(),

posix_spawnattr getsigmask(),

posix_spawnattr init(),

posix_spawnattr setsigdefault(),

posix_spawnattr setflags(),

posix_spawnattr setpgroup(),

posix_spawnattr setsigmask(),

posix_spawnp()
A TEET S, POSIX PRIORITY SCHEDULING £ B354 ., Bk

posix_spawnattr_getschedparam(),

posix_spawnattr getschedpolicy(),

posix_spawnattr setschedparam(),

posix_spawnattr setschedpolicy()

DT B,

SPI - _POSIX_ SPIN_ LOCKS - _SG_SPIN LOCKS
Z MDA T3l POSIX THREADS & POSIX THREAD_SAFE FUNCTIONS #7%
AVEERROANIZIEET 5, B
pthread_spin_destroy(),
pthread_spin_init(),
pthread_spin_lock(),
pthread spin_trylock(),
pthread_spin_unlock()

DT B,

SS — POSIX_SPORADIC_SERVER - _SC_SPORADIC_SERVER
R a—1) 1) — SCHED_SPORADIC A\HHR—rEnTULNVS, DA
< avI& POSIX PRIORITY SCHEDULING # 7L ar#MEBRDRNITIEET . 5
E4 2T HBEEITLITDEY,
sched setparam(),
sched setscheduler().

200112

200112

200112

RE®



SIO — POSIX_SYNCHRONIZED IO — _SC_SYNCHRONIZED IO
SELZTHBEBEUIILLTD®EY . open(), msync(), fsync(), fdatasync.

TSA - _POSIX_ THREAD ATTR_STACKADDR — _SC_THREAD_ATTR_STACKADDR
FELZ T HEMILITOEY,
pthread attr getstack(),
pthread attr getstackaddr(),
pthread attr setstack(),
pthread attr setstackaddr().

TSS - POSIX_ THREAD_ATTR STACKSIZE — _SC_THREAD_ATTR STACKSIZE
FELZ T HEMILITOEY,
pthread attr getstack(),
pthread attr getstacksize(),
pthread attr setstack(),
pthread attr setstacksize().

TCT - _POSIX THREAD_CPUTIME - _SC_THREAD_CPUTIME
clockID CLOCK THREAD_CPUTIMEID A R—kEhTLNVS, DA T3 (&
POSIXTIMERS 7S a>r#BSERDRITIEET 5, 528421 HEMILITD

EL) o
pthread _getcpuclockid(),
clock getres(),
clock gettime(),

clock_settime(),
timer create().

TPI - POSIX_THREAD_PRIO_INHERIT — _SC THREAD_PRIO_INHERIT
200112
FEEZITHBEMIILUTDEY,
pthread mutexattr getprotocol(),
pthread mutexattr setprotocol().

TPP - _POSIX THREAD_PRIO_ PROTECT - _SC_THREAD_PRIO PROTECT
FELZ T HEMILITOEY,

pthread mutex_getprioceiling(),

pthread mutex_setprioceiling(),

pthread mutexattr getprioceiling(),

pthread mutexattr getprotocol(),

pthread mutexattr setprioceiling(),

pthread mutexattr setprotocol().

TPS — _POSIX THREAD_PRIORITY_SCHEDULING — _SC_THREAD_PRIORITY_SCHEDULING
ZOA T avhBWGIES. 1 DOTAOERARDEL DAL YREELD &
% BFEIXBARDODRT 12— (E=IXZFDOWA) TEITTED, ZEHZIT
SEHIFILUTDEY,

pthread attr getinheritsched(),
pthread attr getschedpolicy(),
pthread attr getscope(),
pthread attr setinheritsched(),
pthread attr setschedpolicy(),
pthread attr setscope(),
pthread_getschedparam(),

200112

200112

200112

200112

200112

200112



pthread setschedparam(),
pthread setschedprio().

TSH - _POSIX_THREAD PROCESS_SHARED - _SC_THREAD PROCESS SHARED 200112
FEEZITHBEMIILITDEY,

pthread barrierattr getpshared(),
pthread barrierattr setpshared(),
pthread_condattr getpshared(),

pthread condattr setpshared(),

pthread mutexattr getpshared(),
pthread mutexattr setpshared(),
pthread rwlockattr getpshared(),
pthread rwlockattr setpshared().

TSF — _POSIX_THREAD_SAFE_FUNCTIONS — _SC_THREAD_SAFE_FUNCTIONS 200112
FELZ T HEMILLTOEY,

readdir r(),
getgrgid r(),
getgrnam_r(),
getpwnam ),
getpwuid r(),
flockfile(),
ftrylockfile(),
funlockfile),
getc_unlocked(),
getchar unlocked(),
putc_unlocked(),
putchar unlocked(),
rand ),
strerror K),
strtok r(),
asctime_r(),
ctime ),
gmtime r(),
locattime_r{).

TSP — _POSIX THREAD_SPORADIC_SERVER — _SC_THREAD_SPORADIC_SERVER KREER
ZMA T avlE POSIX THREAD_PRIORITY_ SCHEDULING 747 3 #REEMD N
[ZIBET B, 2B ZTHBEUL LT D@EY,
sched_getparam(),
sched_setparam(),
sched setschedulen().

THR — _POSIX_THREADS - _SC_THREADS 200112
POSIX AL YR DEARHR—HVERRIRETH S, BEEK
pthread atfork(),

pthread attr destroy(),
pthread attr getdetachstate(),
pthread attr getschedparam(),
pthread attr init(),

pthread attr setdetachstate(),
pthread attr setschedparam(),
pthread cancel(),
pthread_cleanup_push(),

10



pthread_cleanup_pop(),
pthread cond broadcast(),
pthread cond destroy(),
pthread_cond. init(),
pthread cond signal(),
pthread cond timedwait(),
pthread cond wait(),
pthread condattr destroy(),
pthread condattr init(),
pthread create(),

pthread detach(),

pthread equal(),

pthread exit(),

pthread _getspecific(),
pthread join(,
pthread key create(),
pthread key delete(),
pthread mutex_destroy(),
pthread mutex_init(),
pthread_mutex_lock(),
pthread mutex trylock(),
pthread mutex_unlock(),
pthread mutexattr destroy(),
pthread mutexattr init(),
pthread once(),

pthread rwlock_destroy(),
pthread rwlock_init(),
pthread rwlock rdlock(),
pthread rwlock tryrdlock(),
pthread rwlock _trywrlock(),
pthread rwlock_unlock(),
pthread rwlock wrlock(),
pthread rwlockattr destroy(),
pthread rwlockattr init(),
pthread self(),

pthread setcancelstate(),
pthread_setcanceltype(),
pthread setspecific(),
pthread testcancel()

DT B,

TMO - _POSIX_TIMEOUTS - _SC_TIMEOUTS 200112
E3E
mq timedreceive(),
mq_ timedsend(),
pthread mutex timedlock(),
pthread rwlock timedrdiock(),
pthread rwlock timedwrlock(),
sem_timedwait(),
posix_trace timedgetnext event()

DT B,

TMR - POSIX_TIMERS - _SC_TIMERS 200112
3k

11



clock getres(),
clock gettime(),
clock_settime(),
nanosleep(),

timer create(),
timer _delete(),
timer _gettime(),
timer _getoverrun(),
timer_settime()

DT B,

TRC - POSIX TRACE - _SC_TRACE RER
POSIX hL—2% (tracing) HMEFARIAETH 5. BEEL

posix_trace attr destroy(),
posix_trace attr getclockres(),
posix_trace attr getcreatetime(),
posix_trace attr getgenversion(),
posix_trace attr getmaxdatasize(),
posix_trace attr getmaxsystemeventsize(),
posix_trace attr getmaxusereventsize(),
posix_trace attr getname(),
posix trace attr getstreamfullpolicy(),
posix_trace attr getstreamsize(),
posix_trace attr init(),
posix trace attr setmaxdatasize(),
posix_trace attr setname(),
posix_trace attr setstreamsize(),
posix trace attr setstreamfullpolicy(),
posix_trace clear(),
posix_trace create(),
posix_trace event(),
posix_trace eventid equal(),
posix_trace eventid get name(),
posix _trace_eventid open(),
posix_trace eventtypelist_getnext_id(),
posix_trace_eventtypelist_rewind(),
posix _trace flush(),
posix_trace get attr(),
posix_trace get status(),
posix_trace_getnext_event(),
posix_trace_shutdown(),
posix_trace start(),
posix_trace_stop(),
posix_trace trygetnext event()

MFET B,

TEF — _POSIX_TRACE_EVENT_FILTER — _SC_TRACE_EVENT FILTER REH
AT avld POSIX TRACE 7L a#isEDNIZHEET 5, Bk
posix_trace eventset_add(),
posix_trace_eventset del(),
posix_trace_eventset_ empty(),
posix_trace_eventset fill(),
posix_trace_eventset_ ismember(),
posix_trace get fitter(),

12



posix_trace set fitter(),
posix_trace trid_eventid open()

DT B,

TRI - _POSIX_TRACE_INHERIT — _SC_TRACE_INHERIT REE
b L—RENTWBTOERADFTOERDIN —REYR—T 5, DA
TJiavlE POSIX TRACE AL a #MEERDAIZIRET . Bk
posix_trace attr getinherited(),
posix_trace attr setinherited()

DT B,

TRL - POSIX TRACE LOG - _SC_TRACE LOG RER
AT avld POSIX TRACE 7L a#iEEDNIHEET 5, Bk
posix_trace attr getlogfullpolicy(),
posix_trace attr getlogsize(),
posix_trace attr setlogfullpolicy(),
posix_trace attr setlogsize(),
posix trace close(),
posix trace create withlog(),
posix_trace open(),
posix_trace rewind()

DT B,

TYM - _POSIX_ TYPED_ MEMORY_OBJECTS — _SC_TYPED MEMORY_OBJECT REE
E3E3
posix_ mem offset(),
posix_typed mem_get info(),
posix_typed_ mem open()

DT B,

— - _POSIX VDISABLE 0

BISFES D (25 0 T, RETRGHAMBXTERET S0, ChizSU MR
BILERT.

XOPEN i3k
_XOPEN_CRYPT, _XOPEN_LEGACY, XOPEN _REALTIME, XOPEN_REALTIME THREADS, _XOPEN _UNIX.

13



|IEEE POSIX1003.1 {24 X FLa—)L S5 FILEhEDIIE

T LB (SVR3I)
kill (2) — send a signal to a process or a group of processes
pause (2) — suspend process until signal

signal, sigset, sighold, sigrelse, sigignore, sigpause (2) — simplified signal management

1 LULFRRR(POSIXT)
sigaction (2) — detailed signal management
signaltstack (2) — set or get signal alterate stack context
sigpending (2) — examine signals that are blocked and pending
sigprocmask (2) - change or examine signal mask
sigsend, sigsendset (2) — send a signal to a process or a group of processes
sigsuspend (2) — install a signal mask and suspend process until signal
sigtimedwait, sigwaitinfo (2)  — wait for signals
sigwait (2) — wait for a signal to be posted

ANS| DFEH&
raise (3C) - send signal to program

Linux DY FIEA LT FIVES

linux @ signalh DY T ILEA LT FILEEIL. BELLTWAESIZRZAET,

bits/signalh &b

#define _NSIG 65 /* Biggest signal number + 1
(including real-time signals). */

#define SIGRTMIN (Ulibc_current._sigrtmin ()

#define SIGRTMAX (_libc_current sigrtmax ()

/* These are the hard limits of the kermel. These values should not be
used directly at user level. */

#define _SIGRTMIN 32

#define _SIGRTMAX (NSIG-1)

[root@ihawk ~J# kill -1
1) SIGHUP 2) SIGINT 3) SIGQUIT 4) SIGILL
5) SIGTRAP 6) SIGABRT 7) SIGBUS 8) SIGFPE

9) SIGKILL 10) SIGUSR1 11) SIGSEGV 12) SIGUSR2
13) SIGPIPE 14) SIGALRM 15) SIGTERM 16) SIGSTKFLT
17) SIGCHLD 18) SIGCONT 19) SIGSTOP 20) SIGTSTP

14



21) SIGTTIN 22) SIGTTOU 23) SIGURG 24) SIGXCPU e
25) SIGXFSZ 26) SIGVTALRM  27) SIGPROF Wﬁiﬂ/ 32 L 3B REFRTT
29) SIGIO 30) SIGPWR 31) SIGSYS SIGRTMIN

35) SIGRTMIN+1  36) SIGRTMIN+2  37) SIGRTMIN+3  38) SIGRTMIN+4

39) SIGRTMIN+5  40) SIGRTMIN+6  41) SIGRTMIN+7  42) SIGRTMIN+8

43) SIGRTMIN+9  44) SIGRTMIN+10 45) SIGRTMIN+11 46) SIGRTMIN+12

47) SIGRTMIN+13 48) SIGRTMIN+14 49) SIGRTMIN+15 50) SIGRTMAX-14

51) SIGRTMAX-13 52) SIGRTMAX~-12 53) SIGRTMAX-11 54) SIGRTMAX-10

55) SIGRTMAX-9 56) SIGRTMAX-8 57) SIGRTMAX-7 58) SIGRTMAX-6

59) SIGRTMAX-5 60) SIGRTMAX-4 61) SIGRTMAX-3 62) SIGRTMAX-2

63) SIGRTMAX-1  64) SIGRTMAX

TS LTHRT HE

[root@ihawk ~T# cat t.c
#include <stdio.h>
#include <signalh>

main()

{
int i=0;

printf”_SIGRTMIN is %d SIGRTMIN is %d¥n”,_SIGRTMIN,SIGRTMIN);
print”_SIGRTMAX is %d SIGRTMAX is %d¥n”, SIGRTMAX SIGRTMAX);

for(=FSIGRTMIN;iK<=SIGRTMAX;i++)
{
switch(i)
{
case _SIGRTMIN:
break;
case _SIGRTMAX:
break;

}

[root@ihawk ~T# ./t

_SIGRTMIN is 32 SIGRTMIN is 34
_SIGRTMAX is 64 SIGRTMAX is 64

EJ =N
[root@ihawk “J# cat t.c
#include <stdio.n>
#include <signal.h>

15



main()
int i=0;
print”_SIGRTMIN is %d SIGRTMIN is %d¥n”, SIGRTMIN,SIGRTMIN);
print(”_SIGRTMAX is %d SIGRTMAX is %d¥n”,_ SIGRTMAX SIGRTMAX);

for(i=SIGRTMIN;i<=SIGRTMAX;i++)
{

switch(i)
{
case SIGRTMIN:
break;
case SIGRTMAX:
break;
}
]
]
[root@ihawk ~T# make t
cc tc -ot

t.c: In function ‘main’:

tc:16: error: case FINILEBHERISETTEFEA
tc:18: error: case TNILEBEFERISETTEEEA
make: *rx [t] T5— 1

B (%, NPTL (Native POSIX Threads Library)
NPTL [ZREFTUTILEA LT FIL DISERD 2 DDBESEFERALTHEY. DT FILIET TS
—:/ED'GIQ:{EFE—C‘“gﬁb\o

L7z 0T, case XRE T, ESLTHRIMEZVELT HIHHICIE, SIGRTMAX NS DEXHEZERT H& !

16



POSIX L FILEEDIRE

4RIl

sigemptyset, sigfillset, sigaddset, sigdelset, sigismember — POSIX 4"} JLEESDRE
g

#include <signal.h>

int sigemptyset(sigset t *set);

int sigfillset(sigset t *set);

int sigaddset(sigset_t *set, int signum);

int sigdelset(sigset t *set, int signum);

int sigismember{const sigset t *set, int signum);
H G

sigsetops(3) BEEEEIL POSIX 4 F L&A (signal set) TR HT-OEHRT 5.

sigemptyset) & set THERONTI T FIVEEEEICHEMEL. 2T FILH —DHEFENTULVELVKEEIZT
%o
sigfilset) (& set THERONIZUTFILEENETDI T FILEET LSI1ZT S,

sigaddset() & sigdelset() (& set [T signum IO FILEFNFNMATY | HIBRLI=YT S,

sigismember() (& signum A\ set [ZTEENTLNEIMNESIMNETRANT B,
R E
sigemptyset(), sigfillset(), sigaddset(), sigdelset) [T NIEL 0 % . T5—DHFAIE -1 &Y,
sigismember() [& signum M set I[CEENTLWNIX 1 ZRL, EFENTLVEFNIX 0 ZIRT, T5—DEE
-1 &9,
I5—
EINVAL sig MBS T FILTIEAGLY,

17



pthread DT FILN2 Y T

pthread_sigmask, pthread_kill, sigwait

g
#include <pthreadh>

#include <signalh>

int pthread_sigmask(int how, const sigset.t *newmask, sigsett *old mask);
int pthread kill(pthread_t thread, int signo);

int sigwait(const sigset_t *set, int *sig);

2ER

AULYRRTDU T FILINU R

pthread sigmask [EFFNHLALYRD LT FILRRAI%ESIE how S KU newmask THESNALSIZEET
%, oldmask A% NULL THUEEIZIX, BERIDI T FILIAID oldmask THEL RSN AHEEIZHE#ESH S,
5| # how HKU newmask DERKIL sigorocmask(2) DFIFMDEKRERIL THSH, how HY SIGSETMASK
DEZIZIX, VT FILIRAID newmask [ZERESNSD, how HY SIGBLOCK MDEEIZIE, newmask THERE
SNBUTFILHBREBEDS T FILIRIIZEMEND, how A SIGUNBLOCK MEE(ZIL, newmask T
BESNDLTFILARBEEAD ST FILIRIDLRYBRNM NS,

T FILRADIFAL YRS EIZERESNBIEEZBLVELTIELLY, LAL sigaction(?) TERESNBZLTFIL
ToLaAvELTFILNIRSIE, TRTOALYRTHRETH D,

pthread kill (£ TFILES signo DT FILEAL YK thread |TEET S, T FILIE Kill2) IZTEANT
WA ESIZERES/ A\ RILENS,

sigwait [ set THESNDZVTFILOSELVTAN 1 DHAFERHELAL vi [ZEREEShAETHEUOHLAL
YRDETEZELLT D, ZLTRIELIS T FTILDEE sic TIRURSNAMHEEICHEML TRS, set TIHEES
N3 TFILIE sigwait [TABEEZIZTOVIENTUVRITAIERLRS T EREN TIXESE0, BhEShi-2
FFIZHT BT F IV RS EFRSN TUOTE N\ RSEIEIFUHEINALY,
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PTHREAD D EIHA

pthread mutex lock()/pthread mutex_unlockQld. mutex ZE#L Mutex T. 2V T1HIILEHIL 3 EHEoTULVET,

o  CDBHITHDY)T1hI o a0 T—AId Event T, ZDEZFRET B[E]. Mutex THRESNTWVET . 5. U—
INALYREIT, Evant DEMNOTH D (DFYARIUMNEL) &EE AL YRIE. pthread mutex cond wait() T
Mutex ZfZHIL . Condition 4T, BRYICDEF T, V517U RALYMAIIE ALy HYMutex ZEZHRL TL VA
[Z. Event ZN&EL . pthread_cond signal)ZFITLET,

o {KERIREEIZ&HoT=. ALYKRIL, 9514 T R yREID Mutex ZAZIIL =5 . pthread cond waitOH\ i BE .,
FDEEEU Mutex #OVILET,

® CDEIET, Mutex ZH Event [EARUMIDURAELTIMET BT, ARNUMELRSZELLK ALYRDEIT—

FELZEYIRT ENTEET,

H—/N\—RLYF DIAT AR
pthread_mutex_lock (&Mutex); pthread_mutex_lock(&Mutex);
if(Event==0) h Event++;
pthread_cond_wait(&Condition,&Mutex); pthread_cond_signal(&Condition);
Event—; pthread_mutex_unlock(&Mutex);

pthread_mutex_unlock(&Mutex);

19



CPU Z|Y 14T & CPUMDIEER

AT La—=)L
POSIX [Z[FFRAEHEELY
RedHawk BE&

#include <mpadvise.h>

TOEADGE

ret = mpadvise (MPA PRC_GETBIAS MPA PID,getpid(),setp);
ret = mpadvise (MPA_PRC_SETBIAS MPA_PID getpid(),setp);
ret = mpadvise (MPA_PRC_GETRUNMPA_PID getpid() setp);

pthread DIFE

ret = mpadvise (MPA_PRC_GETBIAS MPA TID,pthread_self(),setp);
ret = mpadvise (MPA PRC_SETBIAS MPA TID pthread_self(),setp);
ret = mpadvise (MPA PRC_GETRUN,MPA TID pthread self(),setp);

Linux B (£ ZTEATL TLV D EHFEHIELLY)

E=1:0)

B L

sched_setaffinity, sched_getaffinity, CPUCLR, CPUISSET, CPUSET, CPU_ZERO - JO+Xd CPU
affinity Y RAVZEE -BIF9 %

#include <sched.h>

int sched_setaffinity(pid_t pid, unsigned int cpusetsize,
cpu_set t *mask);

int sched_getaffinity(pid_t pid, unsigned int cpusetsize,
cpu_set t *mask);

void CPU_CLR(int cpu, cpu_set t *set);
int CPU_ISSET(int cpu, cpu_set t *set);
void CPU_SET(int cpu, cpu_set t *set);
void CPU_ZERO(cpu_set t *set);

FO+RD CPU affinity GRFIE) YR, ZOTOEANETEHAIINTIVS CPU DESEIRET
%, RILFTOtyH AT LTIL., CPU affinity RRAYZERTET AT ETIHRELED A VMEBLNS
ATREMEN DD, BIZ I HFEDTOERE—DD CPU IZHEYHIT (Thbhb., FOTOERD affinity T
AH%E—DM CPU IZEREL). thDLETHTOERD affinity YRIMNSFD CPU %9\ d 5L T, 7
KRIZFDOTOLRDEITERELEZKNICZTHENTED, =, HAHTALRDEITE—D0D CPU IZRET
% ZET.—DM CPU TOERITHEILELTHMSRID CPU TERITEBHT AESICRET BT vyl 2 ESH
& (cache invalidation) [Z&AMREED H1EEFHS ZELTES,

CPU affinity YRZILICPU DESB 1ZEKT cpusett HBEARTREESN., cpusett ~D K 1 > 4
mask TH§EaN D, CPU E£&8FI2ET A1=-6HhD<HOM 4 FEEBEIRIEN TV, CPUZERO) IZ&EEEY
)79 %, CPUSET) & CPUCLR) IEZFNENIEESNT- CPUDEE~DE I/ Bl B % 17 5
CPUISSETOIZ# 5 CPU MEBIZEFENTUL\AMIDIEREF1TH. DY O(X sched getaffinity()
VHU-ETHERTLEMTH S, VAT L LEIZHDHREMD CPUS cpufEO (2, D CPU (& cpu fE 1
Iz éq‘mb, VIR THD., EE CPUSETSIZE (1024) (X, CPUKAIZAS CPUBSNDRAIELY 1 XEF
LMEZTRY
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RYfE

Is5—

#EHL

sched setaffinity() &, Z7O+FX D A% pid DTAERD CPU affinity ¥ RAY% mask TIEESNT= (B
[Z BRET D, pid A 0 DFE. FEURHLITTOERAMFHND, 51ZE cpusetsize [Z[E mask HIETT
—BNRE UNALEED THS, BEIE. ZDBIEHIZ(F sizeoflcpu set t) ZHRTET LIE KLY,

pid THEESNI=TOEAH mask THESNT= CPU OWLVT A TIREERITSNTLVELMES . #0701t
RlE mask TIEESNT- CPU OWLYTFNMZIEEISNS,

sched getaffinity() [&. 7AEXID A pid DTALAD affinity YAD% mask DT cpusett 1
ERIZESZIAL, cpusetsize FIEHZIE mask O UNAFEEGID) KESEIEET 5.

BB%k sched getaffinity() [ZEE len DARAA mask 12701 pid @ affinity YAIEZEEAL,
pid A% 0 DIFE., FUHELITOTOERANDTRIHRENS,

FREILT=184E. sched setaffinity) & sched getaffinity() (& 0 Z1R9 . TS—DIBEIE -1 ZEL.
erno ZELIZERET %o

EFAULT IEESNI=AE) BN TETH D,

EINVAL affinity EYYRT RS mask 12V R T L EICERIZFEET 270y H I d BE vHELY |
F1=ETTYRIE cpusetsize BH—RILTHEHNTULVS affinity YA EYULELY,

EPERM  FMEUHLITO T ORI ZEYIHEN LM oT=, sched setaffinity() ZFEUOHTTOER(L, E
M1—H D M pid THRISNATOLRADI— D F-IEEH1—5 D LRLCTHSD .
CAP_SYSNICE & —/E)F« (capability) ZFf-75(+hIEEDELN,

ESRCH ZO+X IDpid DFAERANRDOMSLEMNST=,

DI AT La—)UIE Linux EBETHS.

EIZIZ affinity YRAZIEALYREMDBET, ALYRS IL—TDRALyRERL IhT L TS
BIEMTES, gettid2) a—)LHSDERYIEZZDI—ILOD pid 5IEHELTET IENTES,

fork(2) BHETERIN-FIOERITFHITOERD CPU affinity YRVZERET 5, affinty TR &
[E execve(2) DFHIETHRIFEND,

ZDR=aT7IIR—UTIE CPU affinity I—)LD glbc A2 7T—AZHALTLVS, EEDT T L
=)L A AT—RIFDVLESTHEY., EEDOEETIE CPU KAIXEELGE YN RITHDIENIE
K ZRERL. mask DEIHY unsigned long * E7EDTULVD, BTHEFIZIE. £ sched getaffinity) X
TLa—)LBEIE cpumaskt T—RED (NARELID) KESEIRT, cpumaskt [THh—RIL N & T
CPU £E8MDE YNNI RVERIT HDIFEHON TS T —2ETH S,
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run A< KIZ&k 58T

ERLI=7 T r—avld, AMoT09S L5 TIVTREL, A2 TAT S LG, ETOVR (ETE 21—
V) ERET AESIZLTLBIEEIZ. LTMD31T4 /etc/relocal 1IZINZATET, TASSLTBIELL BADYT
WAL LIREET, BT HEMNHEFET,

Drun —b0 —g0

EJiES

run —b0 —a (CHLIE, T—=UT MRTFEINFTHRRBIEIHYEEA)
(@shield —a1-3

@run b1-3-s R Pa—)2y -PEEE TOJ3L4E

HLL

@run ARURDF T 30-00 [Z&H T, FAERS IL—F 0%, b0 TCPUOIZERTET S

@shield AY R4 T 32-a1-3 [2&o T, CPUI-3 DETHE|YAHCPULOCALIRQ)ZEZIET S

®run AYURDFA T3 -b1-3 [2&Y ., TATSLBWBIZ X, aouty CPUI A5 CPU3 DULVT M TEITT S,
ZDEE, s AT a—/)L(fiforrothe TR 1—1 T EHREL. P BEAETELAELZRET 5.

FE 7=, —s other DIFEIZIL, -P (XL TFTOTHY. —s fifo £f=ld—s mr DFEITIE, 1 LLE 99 IFTHLTIEAESALY,
FED&SIZ, A1 TOY S5 L% CPUI~BIZEIL TS, A2 T0T S LN GRERSNSETOER (ETEDa
—IV) L, TRTOTOERNEITRIRSIREEI o115 812, T DERMIZELNTLS CPUT /s CPUS DECMNTHEE)
BIZEITSNET,

Bl ETTHT0ER HAWNERLYRERBICEY HTHUMEEIZE, TOEREEL, . ALIFESEIEET HC
ETIBETEFT A, OOEHLES TILRY) T E Bk T 2ELNHYET,

TOEREFSERES DIHEICE,
run b CPUES -s R7Ua—r) -PEEE » I0tRES
THY.
ALYRDIZEIZIE.
run—b CPUES -s Ry Ua—oy PEEE tALIFES
TY,
DRTLEEHZZETOERM, ED CPUIZEIY DULNTULVSMEREERT BIZ(E, (Y run XU FEFIALET
run AXURDA T avT-a #HTdE UTDLSIZRTEINET,

Bias & Actual [E, 8%, BICIETY A, EREZRML TLVDDIE, Actual TY,
Ftz. run AR TERT AU T ILEA LEBEEL. Pi DIETT,
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# run -a

-
o

OCoOoO~NOUO~AWNE T

Tid

Bias Actual

OxFf
OxFF
0x01
0x01
0x01
0x02

Policy Pri
other O
other 0
fifo 100
other 0
fifo 99
100
other O
fifo 99
100
other 0
fifo 99
100
other O
fifo 99
100
other 0
fifo 99
100
other O
fifo 99
100
other 0
fifo 99
100

Q

+

0

@

=
[eNoNoNoloNololoNoNololoNololoNoNolololoNoNoRoNoNoNoloNoNoNoNoNoNo Yoo} % [ejejojeojcloNojoNo) 8 o

Nice

0
-5
-5
19
-5
-5
19
-5
-5
19
-5
-5
19
-5
-5
19
-5
-5
19
-5
-5
19
-5
-5
19
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
0
0
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5
-5

Name
init
kthreadd
migration/0
krcud/0
ksoftirqd/0
migration/1
krcud/1
ksoftirqd/1
migration/2
krcud/2
ksoftirqd/2
migration/3
krcud/3
ksoftirqd/3
migration/4
krcud/4
ksoftirqd/4
migration/5
krcud/5
ksoftirqd/5
migration/6
krcud/6
ksoftirqd/6
migration/7
krcud/7
ksoftirqd/7
events/0
events/1
events/2
events/3
events/4
events/5
events/6
events/7
khelper
Itmrd
kblockd/0
kblockd/1
kblockd/2
kblockd/3
kblockd/4
kblockd/5
kblockd/6
kblockd/7
kacpid
kacpi_notify
ata/0
ata/1
ata/2
ata/3
ata/4
ata/5
ata/6
ata/7
ata_aux
ksuspend_usbd
khubd
kseriod
pdflush
pdflush
kswapdO
aio/0
aio/l
aio/2
aio/3
aio/4
aio/5
aio/6
aio/7
nfsiod
xfslogd/0
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402
403

405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422
423
424
425
426
1133
1136
1137
1138
1139
1140
1141
1142
1143
1172
1173
1174
1175
1176
1177
1178
1179
1192
1223
1226
1229
1232
1235
1238
1305
1319
1320
1321
1322
1323
1324
1325
1326
1338
1431
7067
7099
7100
7380
7383
7396
7417
7431
7466
7594
7614
7649
7689

402
403

405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422
423
424
425
426
1133
1136
1137
1138
1139
1140
1141
1142
1143
1172
1173
1174
1175
1176
1177
1178
1179
1192
1223
1226
1229
1232
1235
1238
1305
1319
1320
1321
1322
1323
1324
1325
1326
1338
1431
7067
7099
7100
7380
7383
7396
7417
7431
7466
7594
7614
7649
7689

other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other

0000000000000 00000000000000000000000000000000000PCOO0O0O0O0O0O0O0O0O0O0O0O0O0OO0OO0O0OO0OO0OO

-5

[eNoNoNoNoloNoloNoNe}

xfslogd/1
xfslogd/2
xfslogd/3
xfslogd/4
xfslogd/5
xfslogd/6
xfslogd/7
xfsdatad/0
xfsdatad/1
xfsdatad/2
xfsdatad/3
xfsdatad/4
xfsdatad/5
xfsdatad/6
xfsdatad/7
xfs_mru_cache
gfs2_scand
glock_workqueue
glock _workqueue
glock_workqueue
glock workqueue
glock_workqueue
glock workqueue
glock_workqueue
glock _workqueue
netxen
sfc_refill/0
sfc_refill/l
sfc_refill/2
sfc_refill/3
sfc_refill/a
sfc_refill/5
sfc_refill/6
sfc_refill/7
scsi_tgtd/0
scsi_tgtd/1
scsi_tgtd/2
scsi_tgtd/3
scsi_tgtd/4
scsi_tgtd/5
scsi_tgtd/6
scsi_tgtd/7
iscsi_eh
scsi_eh 0
scsi_eh 1
scsi_eh 2
scsi_eh 3
scsi_eh 4
scsi_eh 5
kpsmoused
rpciod/0
rpciod/1
rpciod/2
rpciod/3
rpciod/4
rpciod/5
rpciod/6
rpciod/7
kjournald
udevd

kstriped
kjournald
kjournald
syslogd

klogd

portmap
rpc.statd
dbus-daemon
acpid

sshd

xinetd

crond

xfs
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7700

7710

12798
12810
12811
12812
12813
12814
12815
12816
13073
13075
13076
13256
13293
13326
13327
13332
13370
13371
13371
13373
13383
13386
13388
13390
13395
13397
13398
13400
13402
13403
13404
13406
13410
13415
13416
13458
13460

7700

7710

12798
12810
12811
12812
12813
12814
12815
12816
13073
13075
13076
13256
13293
13326
13327
13332
13370
13371
13372
13373
13383
13386
13388
13390
13395
13397
13398
13400
13402
13403
13404
13406
13410
13415
13416
13458
13460

other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
other
fifo

other
other
other
other

OOOO%OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOoo

OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO<35

anacron
atd

nshutdownd
mingetty
mingetty
mingetty
mingetty
mingetty
mingetty
gdm-binary
gdm-binary
gdm-rh-security-token-helper
Xorg

startkde
ssh-agent
dbus-launch
dbus-daemon
scim-launcher
scim-helper-manager
scim-panel-gtk
scim-panel-gtk
scim-launcher
kdeinit
dcopserver
klauncher

kded

kwrapper
ksmserver

kwin

kdesktop
kicker
kio_file
kio_media
kaccess

artsd

konsole

bash

knotify

run
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S

CPUEIYHTECPUMDIER HIRE affinity.c

#include <stdio.h>

#include <schedh>
#include <ermo.h>
#include <stringh>

main()

{

}

cpu_set_t mask;

int ret.cpu;

unsigned int cpusetsize;
extern int ermo;

cpusetsize = sizeof(cpu_set. t);
ret = sched_getaffinity(getpid(),cpusetsize &mask);
if (ret!=(-1))
{
printf(” sched_getaffinity is %08X¥n" mask);

printf(”sched_getaffinity is error %s¥n” strerror{ermo));
}

for{cpu=0;cpu<8;cput++)
{
_CPU_ZERO(&mask):;
_CPU_SET(cpu,&mask);
ret = sched_setaffinity(getpid(),cpusetsize &mask);
if (ret==0)
{
printf(” sched_setaffinity is %08X¥n" mask);

printf(” sched_setaffinity is error %s¥n” strerror(errno));

TR

[root@mss—hawk samples# ./affinity
sched_getaffinity is 0000000F
sched_setaffinity is 00000001
sched_setaffinity is 00000002
sched_setaffinity is 00000004
sched_setaffinity is 00000008
sched_setaffinity is error Invalid argument
sched_setaffinity is error Invalid argument
sched_setaffinity is error Invalid argument
sched_setaffinity is error Invalid argument
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CPUZEIYHTECPUDER flRE cpusetc

#include <stdio.h>
#include <cpuseth>

main()

{
cpuset_tk setp;
cpu_t max,min;
char *cpustr;
int ret,cpu;

setp = cpuset alloc();
cpuset init(setp);
if (cpuset is empty(setp)) {
printf”cpu is empty¥n™);
}else {
printf”cpu is not empty¥n”);
}

max = cpuset max_cpu();

min = cpuset_min_cpu();

printf“max cpu is %d¥n” (int)X(max));
printf“min cpu is %d¥n” Gint)Xmin));

for(cpu=min:cpu<=max;cpu++)

{

}
cpustr = cpuset get string(setp);
printf(” cpu min to max strings is ¥ %s¥ " ¥n” cpustr);
free(cpustr);
ret = cpuset_count(setp);
printf” cpuset_count %d¥n” ret);
if (cpuset is_empty(setp)) {
printf” cpu is empty¥n™);
}else {
printf”cpu is not empty¥n”);
}

cpuset_free(setp);

cpuset_set_cpu(setp,cpu,1);/* 1:set */

}
SITHER

[root@mss—hawk samples]# ./cpuset
cpu is empty

max cpu is 3

min cpu is 0

cpu min to max strings is “f"
cpuset_count 4

cpu is not empty

27



CPUZEIYHTECPUDBER filE mpadvise.c

#include <stdio.n>
#include <mpadvise.h>
#include <cpuseth>

main()

{
cpuset_tk setp;
cpu_t max,min;
char *cpustr;
int ret,cpu;

setp = cpuset alloc();

cpuset init(setp);

ret = mpadvise (MPA CPU_PRESENT,0,0,setp);

if (ret'=MPA_FAILURE)

{
cpustr = cpuset _get _string(setp);
printf”"MPA_CPU_PRESENT is ¥ %s¥ " ¥n” cpustr);
free(cpustr);

printf”"MPA_CPU PRESENT is error¥n”);
}

cpuset init(setp);

ret = mpadvise (MPA_CPU_ACTIVE,0,0,setp);

if (ret'=MPA_FAILURE)

{
cpustr = cpuset _get _string(setp);
printf”"MPA_CPU_ACTIVE is ¥ %s¥"¥n” cpustr);
free(cpustr);

}

else

{
}

printf“MPA_CPU ACTIVE is error¥n”);

cpuset_init(setp);

ret = mpadvise (MPA_CPU_BOOT,0,0,setp);

if (ret'=MPA_FAILURE)

{
cpustr = cpuset _get _string(setp);
printf”"MPA_CPU_BOOT is ¥ %s¥ " ¥n" cpustr);
free(cpustr);

}

else

{

}
cpuset_init(setp);

printf”"MPA_CPU BOOT is error¥n”);
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ret = mpadvise (MPA PRC_GETBIAS MPA PID,0,setp);

if (ret'=MPA_FAILURE)

{
cpustr = cpuset _get_string(setp);
printf“MPA_PRC GETBIAS is ¥ %s¥"¥n” cpustr);
free(cpustr);

}

else

{
}

print“MPA_PRC GETBIAS is error¥n”);

cpuset init(setp);

ret = mpadvise (MPA PRC_GETRUN,MPA PID,0,setp);

if (ret'=MPA FAILURE)

{
cpustr = cpuset_get _string(setp);
printf"MPA PRC GETRUN is ¥"%s¥"¥n” cpustr);
free(cpustr);

}

else

{
}

max = cpuset max_cpu();
min = cpuset_min_cpu();
for(cpu=min;cpu<=max;cpu++)

{

print“MPA_PRC GETRUN is error¥n”);

cpuset_init(setp),/* clear */

cpuset _set cpu(setp,cpu,1);/* 1:set */
ret = mpadvise (MPA PRC_SETBIAS MPA PID,0,setp);
if (ret'=MPA FAILURE)

{
printf“MPA_PRC _SETBIAS %d is SUCCESS¥t” cpu);

printf“MPA_PRC _SETBIAS %d is FAIL¥t” cpu);
}

cpuset init(setp);
ret = mpadvise (MPA PRC_GETRUN,MPA PID,0,setp);
if (ret'=MPA FAILURE)

cpustr = cpuset _get_string(setp);

printf“MPA_PRC GETRUN is ¥ %s¥"¥n” cpustr);
free(cpustr);

printf“MPA_PRC_GETRUN is error¥n”):

}

cpuset free(setp);
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SEATHER

[root@mss—hawk samples]# ./mpadvise
MPA_CPU PRESENT is “f”

MPA_CPU ACTIVE is “f”

MPA_CPU BOOT is “1”

MPA PRC GETBIAS is “f”

MPA PRC GETRUN is “4”

MPA PRC_SETBIAS 0 is SUCCESS
MPA PRC_SETBIAS 1 is SUCCESS
MPA PRC_SETBIAS 2 is SUCCESS
MPA PRC_SETBIAS 3 is SUCCESS

MPA PRC_GETRUN is “1”
MPA PRC_GETRUN is “2”
MPA PRC_GETRUN is “4”
MPA PRC_GETRUN is “8”
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A 4 <—BHEPOSIX1003.1b API)  BEiE 2583 5518 readtime(),adjust()

void readtime(struct timespec *nowtime)

{
clock_gettime(CLOCK_REALTIME, nowtime);

void adjust(struct timespec *start,struct timespec *finish, float *realtime)

{

int Sec,NSec;

sec = finish—>tv_sec — start—>tv_sec;
nsec = finish—>tv_nsec — start—>tv_nsec;
if (nsec<0)
{
sec —;
nsec += 1000000000;
]
*realtime = (float)(nsec/1000)+(float)(sec*1000000);

struct timespec t0t1;
float usec;

readtime(&+t0);

A

DS DEEZEEHRIT S
v

readtime(&t1);
adjust(&t0,&t1,&usec);
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A=A AT— & BIYiAH N> RS DHIRE timer.c

/%

POSIX RedHawk BenchMark test program version 3.0
*/
#include <stdio.n>

#include <time.h>
#include <signal.h>
#include <ermo.h>
#include <sched.h>
#include <sys/types.h>
#include <unistdh>
#include <mpadvise.h>
#include <cpuseth>
#include <sys/mmanh>
#include <stdlib.h>
#include <math.h>

#define MAXJITTER (30)

#define BOOTMAXJITTER (100)
extemn int errno;

static BOOT_TEST=0;

static FILE *logfd;

//#define HANDLER

void

readtime(struct timespec *nowtime)

{
}

clock_gettime(CLOCK_REALTIME,nowtime);

void
adjust(struct timespec *start,struct timespec *finish, float *realtime)
{

int Sec,nsec;

sec = finish—>tv_sec — start—>tv_sec;
nsec = finish—>tv_nsec — start—>tv nsec;
if (nsec<0)
{
sec —;
nsec += 1000000000;
}
*realtime = (float)(nsec/1000)+float)(sec*1000000);
}

timer_t
create _posix_timer(int signum,int sec,int nsec)
{

static struct sigevent event;

static timer t timer;
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static struct itimerspec itspec;

/* Create the POSIX timer to generate signum */
event.sigev_notify = SIGEV_SIGNAL;
event.sigev_signo = signum;
if (timer _create((clockid t)\CLOCK REALTIME,&event &timer)=—=(-1))
{
forintf(stderr, ”create posix timer() Cannot create timer — %s¥n”,
strerror(enmo));
return ((timer t)-1);
}
/* Set the initial delay and period of the timer.
This also arms the timer */
clock gettime(CLOCK REALTIME &itspec.it value);
itspec.it_valuetv_sec +=3;
itspec.it_intervaltv_sec = sec;
itspec.it_intervaltv_nsec = nsec;
if (timer_settime( timer, TIMER ABSTIME, &itspec, NULL)==(-1))
{

}

return(timer);

retun ((timer t)-1);

#ifdef HANDLER
int loop_flag =1;
void interval_hadler(int no, siginfo_t * info , void * p)

printf(”interval_hadler(%d)¥n” no);

#define MSEC 10
#define MAXCOUNT 1001
void timer test(float jitter)

int signum,status;
static struct sigaction newact;
static sigset_ t set,oset;

#ifdef HANDLER

static sigset_ t unset;

static timer_t timer_id;
static siginfo_t info;

static struct timespec tO[MAXCOUNT];
static float real[MAXCOUNT],min,max,avr;
static int count = 0;

" sekkcssoolrrRRRRoRoRoRo olofololoroRokoh fofok tk ¥n"):
printf{“#ekkk  posix timer test wait for %d sec *¥kk ¥n” MSEC);
prntf(”etetototot e felokklololold folok ok ¥n");

if (sigprocmask(ONULL &set)=—=(-1))
{

33



forintf(stderr, “Cannot get sigprocmask — %s¥n” strerror(ermo));
exit(1);

1

sigaddset(&set, SIGRTMIN);

if (sigprocmask(SIG_SETMASK &set,&oset)=—(-1))

{
forintf(stderr, “%s: Cannot set sigprocmask — %s¥n”, strerror(ermo));
exit(1);

}

signum = SIGRTMIN;

timer id = create_posix_timer(signum,0,MSEC * 1000000);

if (timer id<0)

{
forintf(stderr, “%s: Cannot set posix timer — %s¥n”, strerror{errno));
exit(1);

}
count =0;
#ifdef HANDLER

sigemptyset(&newact.sa mask);

sigaddset(&newact.sa_mask,signum);

newact.sa_sigaction = interval_hadler;

newact.sa_flags = SA_SIGINFO|SA RESTART;

if (sigaction(signum, &newact, 0)=(-1))

{
forintf(stderr, “%s: Cannot set sigaction — %s¥n”, strerror(ermo));
exit(1);

}

sigfillset(&unset);

sigdelset(&unset,SIGRTMIN);

#endif
do
{
#ifdef HANDLER
status = sigsuspend(&unset);
#else
status = sigwaitinfo(&set,&info);
#endif
readtime(&t0[count));

countt++;
} while (count<MAXCOUNT);
timer_delete(timer id);
min=1000000000;
avr =max=0;
for(count=1;count{MAXCOUNT;count++)
{
adjust(&+t0[count—1],&t0[count],&reallcount]);
avr += real[count];
if (min> real[count]) min = reallcount];
if (max< real[count]) max = real[count];
if (logfd) fprintflogfd, %f¥n” reallcount));
}
avr /= (floatMAXCOUNT-1);
printf” min %f avr %f max %f¥t” min,avr,max);
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if (fabs(max—min)<=jitter)

{
printf” GOOD(fabs(%f)<%f micro sec)¥n” (max—min)jitter);
}
else
{
printf” FAIL(fabs(%f)>%f micro sec)¥n” (max—min)jitter);
}
}
void counter test(float jitter)
{
struct timespec t0t1;
struct timespec w0={0,0}w1={0,0};
float real,over;
int i,usec,nsec,res,ovr,old;
printf{”selstcteirlolokt ok ook fofofololorooh sokok ¥n');
printf(“kkk  posix counter test ook ¥n™);
printf{”selstcteirioloks ok ook fofofoloorokoh ook ¥n');

clock getres(CLOCK _REALTIME,&wO0);
res = w0.tv_nsec;
printf(” clock resolution is %d nsec¥n” res);
owr =0;
for(i=0:i<100;i++)
{
wO.tv_sec=0;
wO.tv_nsec= 10*1000%*1000;
readtime(&+t0);
nanosleep(&w0,&w1);
readtime(&t1);
adjust(&+t0,&t1,&over);
ovr += ((int)over * 1000) — wO:tv nsec);
}

ovr /=100;
printf(”“nanosleep resolution test overhead is %d nsec¥n” ovr);
fflush(stdout);
for(usec=10;usec<1000000;usec=usec<<1)
{
wO.tv_sec=0;
wO.tv_nsec=1000 * usec — ovr;
if (wO.tv_nsec<0) wO.tv nsec = 0;
readtime(&+t0);
nanosleep(&w0,&w1);
readtime(&t1);
adjust(&t0,&t1,&real);
printf(“request %10d usec real %10.3f usec ret %d nsec¥t”,
usec,realw1.tv_nsec);
if (fabs(real~usec)<=jitter)

{
}

else

printf” GOOD(fabs(%f)<%f micro sec)¥n” (real-usec)jitter);
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printf” FAIL(fabs(%f)>%f micro sec)¥n” (real-usec)jitter);

}

int
main(int argc, char **argv)
{
static struct sched_param myparam;
cpuset_tk setp;
int ret;
extern int erro;
extemn int optind;
extern char *optarg;
register int c;
char *progname;
progname = argv[0];
while((c = getopt(argc, argv, “B1:")) '= EOF)
switch(c) {
case B
BOOT_TEST=T;
break;
case T
logfd=fopen(optarg,“w”);
break;
default:
forintf(stderr,
“usage: %s [-B] BBOOT CPU TEST¥n”,
progname);
exit(1);
}
}
#if O
if (optind '= arge) {
for (¢ = optind; ¢ < argc; ct++) {
if (access(argvic], 4) {
forintf(stderr,
s ¥ %s¥” %s¥n”,
progname,argvlc),strerror{ermo));
exit(1);
}
}
}
#endif

mlockal(MCL_CURRENT|MCL _FUTURE);

setp = cpuset alloc();
myparam.sched_priority = sched_get _priority_max(SCHED_FIFO);
sched setscheduler(getpid(),SCHED_FIFO,&myparam);
system(” /usr/bin/shield —r");
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#if O

#endif

system(”/usr/bin/shield —¢”);
system(”/usr/bin/cpu”);
timer testtMAXJITTER);
counter testtMAXJITTER);
printf " ¥n¥n");

system(” /usr/bin/shield p 1 - 17);
system(”/usr/bin/shield —¢”);
system(”/usr/bin/cpu”);

cpuset set string(setp, “2”);

ret = mpadvise (MPA PRC_SETBIAS MPA PID,0,setp);
if (ret'=MPA FAILURE)

printf”“running 2nd CPU¥n");

printf“Can not running 2nd CPU¥n");
}
timer testtMAXJITTER);
counter testtMAXJITTER);
printf " ¥n¥n¥n");

if BOOT TEST)

{
cpuset set string(setp, “17);
ret = mpadvise (MPA PRC_SETBIAS MPA PID,0,setp);
if (ret'=MPA FAILURE)

printf”running boot CPU¥n");

else

{

}

timer testBOOTMAXJITTER);
counter testtBOOTMAXJITTER);
printf " ¥n¥n");

printf(”Can not running boot CPU¥n");

}

system(”/usr/bin/shield —a 17);
system(”/usr/bin/shield —¢”);
system(”/usr/bin/cpu”);

cpuset set string(setp, “2”);

ret = mpadvise (MPA PRC_SETBIAS MPA PID,0,setp);
if (ret'=MPA _FAILURE)

printf”“running 2nd CPU¥n");

printf“Can not running 2nd CPU¥n");

}
timer testtMAXJITTER);
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counter testtMAXJITTER);
if (logfd) fclose(logfd);
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TOEXDEEE (POSIX1003.1b API) sched.c

#include <stdio.n>
#include <sched.h>
#include <time.h>
#include <sys/types.h>

main()
{
static struct sched_param myparam;
int min,max;
struct timespec rr;

min = sched get_priority min(SCHED_FIFO);
max = sched_get priority max(SCHED_FIFO);
printf””SCHED _FIFO priority min is %d¥n” min);
print”SCHED _FIFO priority max is %d¥n” max);

min = sched get _priority min(SCHED _RR);
max = sched _get priority max(SCHED_RR);
myparam.sched_priority = min;
sched setscheduler(getpid),SCHED_RR &myparam);
sched_rr_get interval(getpid() &);
printf”SCHED _RR priority min is %d¥n” min);
printf” SCHED _RR priority max is %d¥n” max);
print”SCHED _RR interval is %d%d¥n” rrtv_secrtv_nsec);

SATHRR

[root@RehHawk5 sched]# ./sched
SCHED_FIFO priority min is 1
SCHED_FIFO priority max is 99
SCHED_RR priority min is 1
SCHED_RR priority max is 99
SCHED_RR interval is 0.100006250
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F 21— K4 F)L(POSIX1003.1b API) sig.c

#include <stdio.n>
#include <stdlib.h>
#include <ermo.h>
#include <sys/types.h>
#include <time.h>
#include <signal.h>
#include <unistdh>
#include <fcntl.h>
#define SERVER 1
#define CLIENT 2
#define LOOP 10

volatile sig atomic_t loop_flag =1;

void display_siginfo(siginfo_t *siginfo)
{
printf”¥tsi_signo¥t%hd¥n¥tsi code¥t¥thd¥n¥tsi pid¥t¥thd¥n¥tsi status¥td¥n¥tsi uid¥t¥thd¥n¥tsi value¥thd¥n¥ts
i_addr¥t¥t%hd¥n¥tsi fd¥t¥thd¥n¥tsi band¥t¥t%hd¥n¥n”,
siginfo—>si_signo,
siginfo—>si_code,
siginfo—>si_pid,
siginfo—>si_status,
siginfo—>si_uid,
siginfo—>si_value,
siginfo—>si_addr,

siginfo—>si_fd,
siginfo—>si_band);
fflush(stdout);
}
void parent_intr_handler(int signo,siginfo_t *siginfo, void *val)
{
loop_flag ++;
printf“¥nParent signal handler signo %d val %d¥n” signox(intx)val);
fllush(stdout);
display_siginfo(siginfo);
}
void server intr handler(int signo,siginfo_t *siginfo, void *val)
{
printf“¥nServer signal handler signo %d val %d¥n” signox(intx)val);
fllush(stdout);
display_siginfo(siginfo);
}
void client_intr handler{int signo,siginfo_t *siginfo, void *val)
{
printf"¥nClient signal handler signo %d val %d¥n” signox(int*)val);
fflush(stdout):
display_siginfo(siginfo);
}
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void sigint_handler(int signo,siginfo_t *siginfo, void *val)

{

}

printf(“¥nProcess %d signal handler signo %d val %d¥n” getpid(),signo(int)val);
fflush(stdout);

display siginfo(siginfo);
loop_flag = O;

static int server{void)

{

static struct sigaction newact;

static struct sigaction intact;

static union sigval value;

static sigset t imask,omask;

static struct timespec w1 ={1,0}; /* 1 sec */
static siginfo_t siginfo;

static int i,err,clientpid=1;

sigaddset(&newact.sa_mask,SIGRTMAX);
newact.sa_sigaction = server_intr_handler;
newact.sa_flags = SA_SIGINFO|SA RESTART;
if (sigaction(SIGRTMAX, &newact, 0)==(—1))
{
forintf(stderr, “Cannot set sigaction — %s¥n” strerror(ermo));
exit(1);
}
sigaddset(&intact.sa mask,SIGINT);
intact.sa_sigaction = sigint_handler;
intact.sa_flags = SA SIGINFO|SA RESTART:
if (sigaction(SIGINT, &intact, 0)=(-1))

{
forintf(stderr, “Cannot set sigaction — %s¥n” strerror(ermo));
exit(1);
}
sigemptyset(&imask);

sigaddset(&imask,SIGINT);
sigaddset(&imask,SIGRTMAX);
if (sigprocmask(SIG_BLOCK &imask,&omask)=—=(-1))
{
forintf(stderr, “Cannot set sigprocmask — %s¥n” strerror(errmo));
exit(1);

nanosleep(&w1,NULL);
valuesival_int = getpid();
printf(” sigqueue from Server Process %d to Parent Process %d value %d¥n”,
getpid(),getppid(), value.sival_int);
fflush(stdout);
sigqueue(getppid(), SIGRTMAX value);
while(loop flag=1)
{
err = sigwaitinfo(&mask &siginfo);
printf“¥nServer sigwaitinfo return code %d ermo %d ¥ %s¥” ¥n” err.ermo,strerror(ermo));
display siginfo(&siginfo);
switch (siginfo.si_signo)
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case SIGINT: loop_flag=0;break;
case _SIGRTMAX:
if (clientpid=—=(—1)&8&(siginfo.si_pid=—getppid()))

{
clientpid = siginfo.siint;
loop_flag = 2;
}
break;
}
}
sigfillset(&imask);
sigdelset(&imask,SIGINT);

sigdelset(&imask SIGRTMAX);
for(i=0;i<LOOP;i++)
{

}
for(i=0;i<KLOOP;i++)
{

sigsuspend(&imask);

value.sival_int = ;

sigqueue(clientpid, SIGRTMAX value);
}
printf(” ServerClient Process exit¥n”);
fflush(stdout);
return(0);

}

static int client(void)
{
static struct sigaction newact;
static struct sigaction intact;
static sigset t imask,omask;
static union sigval value;
static struct timespec wi ={1,0}; /* 1 sec */
static siginfo_t siginfo;
static int i,err,serverpid=—1;

sigaddset(&newact.sa_mask,SIGRTMAX);
newact.sa_sigaction = client_intr_handler;
newact.sa flags = SA_SIGINFO|SA_RESTART;
if (sigaction(SIGRTMAX, &newact, 0)==(—1))
{
forintf(stderr, “Cannot set sigaction — %s¥n” strerror(ermo));
exit(1);
}
sigaddset(&intact.sa mask,SIGINT);
intact.sa_sigaction = sigint_handler;
intact.sa_flags = SA SIGINFO|SA RESTART:
if (sigaction(SIGINT, &intact, 0)=—=(-1))
{
forintf(stderr, “Cannot set sigaction — %s¥n” strerror(errmo));
exit(1);
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}

sigemptyset(&imask);
sigaddset(&imask,SIGINT);
sigaddset(&imask,SIGRTMAX);
if (sigprocmask(SIG_BLOCK &imask,&omask)=—=(-1))
{
forintf(stderr, “Cannot set sigprocmask — %s¥n” strerror(errmo));
exit(1);
}
nanosleep(&w1,NULL);
value.sival_int = getpid();
printf(”sigqueue from Client Process %d to Parent Process %d value %d¥n”,
getpid() getppid(), valuesival int);
fflush(stdout):
sigqueue(getppid(), SIGRTMAX value);

while(loop flag=1)

{
err = sigwaitinfo(&imask,&siginfo);
printf“¥nClient sigwaitinfo return code %d ermo %d ¥ %s¥ " ¥n” err,ermo strerror(ermo));
display siginfo(&siginfo);
switch (siginfo.si_signo)
{
case SIGINT: loop_flag=0;break;
case _SIGRTMAX:
if (serverpid=—=(—1)&8&(siginfo.si pid=—getppid())
{
serverpid = (int)siginfo.si_int;
loop_flag = 2,
}
break;
}
}
sigfillset(&imask);
sigdelset(&imask,SIGINT);

sigdelset(&imask,SIGRTMAX);
for(i=0;<KLOOP;i++)
{
printf“send from client data %d¥n” i);
prntf(” ¥mskiriskioricliioickiiok¥nany input is start”);flush(stdout); getchar();
value.sival_int = ;
sigqueue(serverpid, SIGRTMAX value);
}
for(i=0;<KLOOP;i++)
{

}

printf”“Client Process exit¥n”);
fflush(stdout):

return(0);

sigsuspend(&imask);

int do_main(int option)

{

static struct sigaction newact;
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static struct sigaction intact;

pid_t ServerPID;

pid_t ClientPID;

int status;

static union sigval value;

static sigset t imask,omask;

static struct timespec wi ={1,0}; /* 1 sec */

sigaddset(&newact.sa_mask,SIGRTMAX);
newact.sa_sigaction = parent_intr_handler;
newact.sa flags = SA_SIGINFO|SA_RESTART;
if (sigaction(SIGRTMAX, &newact, 0)==(—1))
{
forintf(stderr, “Cannot set sigaction — %s¥n” strerror(errno));
retumn(1);

printf“Parent Process ID %d¥n” getpid());flush(stdout);

sigaddset(&intact.sa mask,SIGINT);
intact.sa_sigaction = sigint_handler;
intact.sa_flags = SA SIGINFO|SA RESTART:
if (sigaction(SIGINT, &intact, 0)=(-1))
{
forintf(stderr, “Cannot set sigaction — %s¥n” strerror(ermo));
retumn(1);
}
sigemptyset(&imask);
sigaddset(&imask,SIGINT);

#ifndef TEST1

#endif

if (sigprocmask(SIG_BLOCK &imask,&omask)=—=(-1))

{
forintf(stderr, “Cannot set sigprocmask — %s¥n” strerror(errmo));
retumn(1);

ServerPID=fork();

if (ServerPID<0)

{
forintf(stderr,” server fork error¥n”);
return(0);

}

if (ServerPID=0)

{

server();
exit(0);
}
printf”Server Process ID %d¥n” ServerPID);fflush(stdout);
ClientPID=fork();
if (ClientPID<0)
{
forintf(stderr,” client fork error¥n”);
return(0);
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if (ClientPID==0)
{
client();
exit(0);
}
printf” Client Process ID %d¥n” ClientPID):flush(stdout);

while(loop_flagl=3)
{

}

printf(” sigqueue from Parent Process %d to Server Process %d value %d¥n” getpid(),ServerPID,ClientPID);
fflush(stdout);

prntf(” ¥mskiriskirioloicliok¥nany input is start”);flush(stdout); getchar();

value.sival_int = ClientPID;

sigqueue(ServerPID,SIGRTMAX value);

nanosleep(&w1,NULL);

sigsuspend(&imask);

printf(” sigqueue from Parent Process %d to Client Process %d value %d¥n” getpid(),ClientPID,ServerPID);
fflush(stdout);

value.sival_int = ServerPID;

sigqueue(ClientPID,SIGRTMAX value);

waitpid(ClientPID &status,0);
waitpid(ServerPID &status,0);
printf“Parent Process exit'¥n");
return(0);

}

main( int arge, char **argv )

{
extemn int optind;
extern char *optarg;
register int ¢, option = 0;

while((c = getopt(argc, argv, “sc”)) '= EOF)

{

switch(c)
{
case 'c"
option|:CLIENT;
break;
case s
option|=SERVER;
break;
default:
break;

}
}

return(do_main(option));
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T T7— R AE!)(POSIX1003.1b API)

#include <stdio.n>
#include <stdlib.h>
#include <sys/param.h>
#include <sys/types.h>
#include <sys/mmanh>
#include <fcntl.h>
#include <ermo.h>

extermn int errno;
int

main(int argc, char *argv[])

{

int oflg;
int memfd;
mode t omode;

const char *shmname = “/shared memory”;
struct shared_memory

{

|3
struct shared_memory *shmaddr = NULL;

int a, b, counter, initial;

/* set paramater */
oflg = O_CREAT | O_.RDWR| O_TRUNC;
omode = 0644,

/* open shared memory */
memfd = shm_open(shmname, oflg, omode );
iflmemfd=——1){

shm_open.c

printf(”Error: shm_open() Error!! [%d]¥n” ermo);

perror(NULL);
retumn (-1);

}

printf(”shm_open() OK!" memfd[%d]¥n” memfd);
/* set the memory object’s size */

if(ftruncate(memfd,sizeof(struct shared_memory))——1)

{

forintf(stderr,” ftruncate : %s¥n” strerror(ermo));

retun EXIT_FAILURE;
}

/* map the memory object */

/* /dev/shm/shared memory DMESND */

shmaddr=mmap(0,sizeof(struct  shared memory),PROT READ | PROT WRITE,MAP_SHARED,memfd,0);

ifl(void #)shmaddr—MAP_FAILED)
{

forintf(stderr,”mmap faild : %s¥n” strerror(ermo));

retun EXIT_FAILURE;
}
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print“map addr is %#x¥n” shmaddr);

printf(“input any keys continue:”)fflush(stdout);
getchar();

printf{”"OK¥n");

if (munmap(shmaddr,sizeof(struct  shared_memory))<0)

{

forintf(stderr,”munmap faild : %s¥n” strerror(ermo));

}
if (close(memfd)<0)

{

forintf(stderr,” close faild : %s¥n” strerror(errno));

}

shm_unlink(shmname);

return (0);
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A yt—I%F 1 —(POSIX1003.1b API) mg.c

#include <stdio.n>
#include <limitsh>
#include <mqueue.h>
#include <signal.h>
#include <stdlib.h>
#include <ermo.h>

static mqd_t fbq;

void
receive_mq(int signo,siginfo_t *siginfo, void *val)
{

unsigned int recv,msg prio;

struct sigevent notification;

printf " ¥tsi_signo¥t%d¥n¥tsi code¥t¥thd¥n¥tsi pid¥t¥thd¥n¥tsi status¥thd¥n¥tsi uid¥t¥thd¥n¥tsi value¥thd¥n¥tsi addr¥t¥t%
d¥n¥tsi fd¥t¥thd¥n¥tsi band¥t¥t%d¥n¥n”,
siginfo—>si_signo,
siginfo—>si_code,
siginfo—>si_pid,
siginfo—>si_status,
siginfo—>si_uid,
siginfo—>si_value,
siginfo—>si_addr,
siginfo—>si_fd,
siginfo—>si band);
fflush(stdout);

notification.sigev_notify = SIGEV_SIGNAL;
notification.sigev_signo = SIGRTMIN;
mq_notify(fbg,&notification);

ma_receive(fbq,(chark)&recv,sizeof(int),&msg prio);
printf(” data %d priority %d¥n” recv,msg prio);fflush(stdout);

main()

struct mq attr comattr;
unsigned int i,send,recv,msg prio;
struct sigaction newact;

struct sigevent notification;

int signum;

static sigset_t set,oseteiset;

/¥ Ayt—Fa— fbg */

comattrmq flags = O NONBLOCK;//;¥& D737 [XHREL THEBFEIND
comattr.mg maxmsg = 100;

comattr.maq msgsize = sizeof(int);

comattr.mq curmsgs = 0,
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printf“"Message Queue Polling Test¥n”™);
if (g = ma_open(”/foq”,0_RDWR|O_CREAT|O_NONBLOCK,0666, &comattr))=(maqd t)X(-1))
{//open B0 O NONBLOCK 121+ H3E%h
forintf(stderr,”%s¥n” strerror(ermo));
exit(1);

print“send message queue )

for (i = 0; iK10;i++)

{
send =i
iflma_send(fbg,(chark)&send,sizeof(int),i)<0)
{

}
printf“%d ” i):flush(stdout);

forintf(stderr,”%s¥n” strerror(errmo));

}
printf“¥n");

printf(”receive message queue :”);

for (i = 0; iK10;i++)

{
maq_receive(fbg,(chart)&recv,sizeof(int),&msg prio);
printf“%x%x “ msg prio,recv)fflush(stdout);

}

printf(“¥n”);

printf“Message Queue Interrupt Test¥n”);
signum = SIGRTMIN;
sigaddset(&newact.sa_mask,signum);
newact.sa_sigaction = receive_mq;
newact.sa flags = SA_SIGINFO|SA_RESTART;
sigaction(signum, &newact, 0);

notification.sigev_notify = SIGEV_SIGNAL;
notification.sigev_signo = signum;
ma_notify(fbg,&notification);

printf“send 10¥n");
send = 10;
ma_send(fbg,(char¥)&send sizeof(int),1);
sleep(1);
printf“send 9¥n”);
send =9;
ma_send(fbg,(char¥)&send sizeof(int),1);
sleep(1);
ma_close(fbq);
mq_unlink(” /fbq”);
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TR

[root@RehHawk5 mql# ./mq

Message Queue Polling Test

send message queue 0123456789

receive message queue :9:9 8:8 7.7 6:6 5:5 4:4 3:3 22 1:1 0.0
Message Queue Interrupt Test

send 10
si_signo 34
si_code -3
si pid 16048
si_status 2100
si_uid 0
si value 2100
si_addr 16048
si fd 0
si_band 16048

data 10 priority 1

send 9
si_signo 34
si_code -3
si_pid 16048
si_status 1
si_uid 0
si_value 1
si_addr 16048
si fd 0
si_band 16048

data 9 priority 1
AR

/proc A3 Ix—R
UTDA B ITT—REF>T, POSIX Ayt—2F1—hGEET EZNh—RILAEYDEEFIETHIEMN
TE5%,

/proc/sys/fs/mqueue/msg max
Z DIF7AINEFEHST, —2DF 21— ANLNEAVE—DDHRAED LREZSHEL-VEEL-YT
&5, COfElIF. mgopen3) ITIEY attr>mamaxmsg 5IEHIZ*9 5 ERRIEEL THERES D, msgmax
DT IAIMES FUR/MEIE 10 THS; LERIZMENHIAAHDEESE I(HARD MAX) T (131072 /
sizeof(void ¥)) (Linux/86 Tl 32768) T#HD, ZDLE (£4F #TSO+R (CAP_SYS RESOURCE) Tl&#E
RENDH, 1BOHIAAHDEFEEIZK D LRITEALHZSICTHEAINS,

/proc/sys/fs/mqueue/msgsize_max
ZDI7AINEFST, Avt—CDERATAAD LREEXSHBELI-YESEL - Y TE 5%,
ZDIEIE. maopen(3)ITIET attrmq msgsize 5|ZE=x9 5 LIREEL THEEET D, msgsize max DT T+
IWMEB KU /MEIE 8192 /31 ThHh5; ZD_LRIFIFET O R(CAP_SYS RESOURCE) Tl E SRS
60

/proc/sys/fs/mqueue/queues_max
Z DIFTAIINEF-TAET BEMTEDAYE—2F 21— T H AT LERTOHIEESHE
LIzUZEBELYTES, —EZDLRITETDE, FILLAYE—DF 21— ZERTELD(XHETOER
(CAP_SYS_RESOURCE)f=11&7%%,, queues max DT JAJLMEIX 256 THY.0 Hid> INT MAX DEEED
FEDEIZERTTHIENTES,
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64 Evw R TILRA LT 74 JL(POSIX1003.1b API) rfile.c

#define _LARGEFILE64 SOURCE 3\
#include <stdio.h>
#define _USE_GNU

#include <sys/typesh> Z DIERWZE
#include <unistdh> >
#include <sys/stath>
#include <fcntlh>
#include <stdlib.h> )
main()
{
int fd,
off64 t align;
long long bytes;
char *dummy;
bytes = 4294967296LL.//0x100000000;
if (fd = open64(“realtime file” (O CREAT|O WRONLY|O DIRECT), 0666)) <0)
exit(1);
}
align = (off64 t)fpathconf(fd,_PC_ALLOC _SIZE_MIN);
print”_PC_ALLOC_SIZE_MIN %lld¥n” align);
printf(“allocate %lld bytes¥n” bytes);
posix memalign{(void*)&dummy,align,0x1000);
if (posix_fadvise(fd,0LL bytes,POSIX_FADV_NOREUSE)X0) {
forintf(stderr,”fadvise error¥n”);
exit(0);
}else {
if (posix fallocate64(fd,0LL bytes)<0)
{
forintf(stderr, “falocate error¥n”™);
exit(0);
}
bytes —= 4096LL;
if (Iseek64(fd bytes,SEEK_SET)<0)
{
forintf(stderr,”Iseek error¥n™);
}
write(fd,dummy,0x1000);
}
close(fd);
}
EITHER
[root@RehHawk5 contigl# ./rfile
_PC_ALLOC_SIZE_MIN 4096

allocate 4294967296 bytes
[root@RehHawkb contigl# Is I

&5t 440

—rw—r—r— 1 root sys 408 8 A 17 17:30 Makefile
—rw-r—r— 1 root root 4294967296 8 A 18 09:06 realtime file
—rwxr—xr—x 1 root root 6211 8 A 18 09:06 rfile
—w—r—r— 1 root sys 897 8 A 18 09:06 rfile.c
—rw—r—r— 1 root root 1800 8 A 18 09:06 rfile.o
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JEREAZ 74 )L 1/0(POSIX1003.1b API)

#include <stdio.h>
#include <stdlib.h>
#define _USE_GNU
#include <sys/types.h>
#include <sys/stath>
#include <fcntlh>
#include <unistdh>
#include <stringh>
#include <aioh>
#include <sys/mmanh>

#define DATA BUF_SIZE 4096
#define DATA BUF_NUM 128

aio_test(int fd)

int n,status;
unsigned char *  Aio_buffflDATA BUF_NUM];
struct aiocb Aiocb[DATA BUF NUM];
struct aiocb *ListtDATA BUF_NUM];
struct timespec timeout = {10,0};
struct sigevent sig;

{or(nZO;n<DATA_BUF_NUM;nH-)
Aio_buff[n] = (unsigned chart)memalign(sysconf{ SC_PAGESIZE) DATA BUF SIZE);
memset((void *)(Aio_buffin])n,DATA BUF SIZE);

Aiocb[n].aio_buf = Aio_buff[n];
Aiocb[n].aio_offset = (long longXDATA BUF _SIZE * n);

Aiocb[n].aio_nbytes = (long long)DATA BUF SIZE;
Aiocb[n].aio_fildes =fd,
Aiocb[n].aio_regprio =0;

Aiocb[n].aio_lio opcode = LIO WRITE;
Aiocb[n].aio_sigevent.sigev notify = SIGEV_NONE;
List[n] = &Aiocb[n];

}
mlockal(MCL_CU RRENT|MCL_FUTU RE):
lio_listio(LIO_WAIT (struct aiocb **)&List[0] DATA BUF NUM, &sig);
aio_suspend((const struct aiocb **)&List[0] DATA_BUF NUM, &timeout);
munlockall();

for(n=0:n<DATA BUF NUM:n++)

status = aio_retumn(&Aiocb[n]));
if (status'=DATA BUF SIZE) printf{"%d is write error¥n” n);

for(n=0,n<DATA BUF NUM;n++)
status = aio_error(&Aiocb[n]);
| if (status) printf{"%d is error %d%s¥n” n,status,strerror{status));
}
main()
int fd;

long long bytes;
int dummy=0;
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bytes = DATA BUF SIZE * DATA BUF NUM ;
if ((fd = open("realtime file” (O.CREAT|O_DIRECT|O_WRONLY|O_SYNC|O_DSYNC|O_RSYNC), 0666)) <0)
{

exit(1);

printf(”allocate %lld bytes¥n” bytes);
if (posix_fadvise(fd,0bytes POSIX_FADV_NOREUSE)O0)
{

forintf(stderr, " fadvise error¥n”);
exit(0);

}else{
i{f (posix fallocate(fd,0,bytes)<0)

forintf(stderr, “falocate error¥n”);
exit(0);

bytes —= (long long)sizeof(int);
Iseek(fd bytes,SEEK_SET);
write(fd &dummy,4);
Iseek(fd,0,SEEK_SET);

aio_test(fd);
close(fd);

}
SITHRR

[root@RehHawk5 aiol# ./aio
allocate 524288 bytes

[root@RehHawk5 aiol# Il
BEt 536
—rw—r—r— 1 root sys 450 8 A 18 04:51 Makefile
—rwxr-xr—x 1 root root 7484 8 H 18 04:52 aio
—rw—r—r— 1 root sys 2162 8 A 18 04:51 aio.c
-rw—r—r— 1 rootroot 2452 8 A 18 04:52 aic.o
—w—r—r— 1 root root 524288 8 B 18 04:52 realtime file

FTHPDTOERRAT—EADAFT VT ayk

F S UID PID PPID LWP C NLWP PRI NI ADDR SZ WCHAN STIME TTY TIME CMD
4 S root 5233 4614 5233 0 1 80 O - 1515 wait 02:00 pts/2 00:00:00 bash
4 S root 14886 5233 14886 0 2 80 O - 682 futex 04:52 pts/2 00:00:00 ./aio
1 D root 14886 5233 14888 0 2 80 O - 682 blockd 04:52 pts/2  00:00:00 ./aio
0 R root 14887 5233 14887 O 1 80 O - 1290 - 04:52 pts/2  00:00:00 ps -FIL
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1+ < 7 #(POSIX1003.1b API) sem.c
#include <stdio.h>
#include <stdlib.h>
#include <sys/types.h>
#include <sys/stath>
#include <fcntlh>
#include <semaphore.h>
#include <ermo.h>

main()

sem_t *sem;

int pshared=2; /* 2 process shared */
int value=0;

int sval,status;

sem = sem_open(”/posix_sem0”,0_CREAT|O_EXCL,0644,0); //create /dev/shm/semposix_sem0
if (sem=(sem_tx)}(-1))
{

printf(”error %s¥n” strerror(ermo));
exit(0);
}

sem_init(sem,pshared,value);
sem_getvalue(sem,&sval); print{”initial semaphore value is %d¥n” sval);

sem _post(sem);
sem getvalue(sem,&sval); printf(”after sem post semaphore value is %d¥n” sval);

sem_wait(sem);
sem getvalue(sem,&sval); printf(” after sem wait semaphore value is %d¥n” sval);

status = sem_trywait(sem);
if (status)
printf(” status %d %s¥n” status,strerror{ermo));
else
printf(”successful lock a counting semaphore¥n”);
sem_getvalue(sem &sval); printf” current semaphore value is %d¥n” sval);

sem _post(sem);
status = sem_trywait(sem);
if (status)
printf(” status %d %s¥n” status,strerror{enno));
else
printf(” successful lock a counting semaphore¥n”);
sem_getvalue(sem,&sval); printf” current semaphore value is %d¥n” sval);

sem _close(sem);
sem_unlink(”/posix_sem0”);

RfTHaR

[root@RehHawk5 seml# ./sem

initial semaphore value is 0

after sem_post semaphore value is 1

after sem_wait semaphore value is 0
status —1 Resource temporarily unavailable
current semaphore value is 0

successful lock a counting semaphore
current semaphore value is 0
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pthread [Z&k % = =X %42 21— (POSIX1003.1c API) tswitch.c

#include <stdio.h>
#include <ermo.h>
#include <sys/types.h>
#include <time.h>
#include <signal.h>
#include <stringh>
#include <unistdh>
#include <mpadvise.h>
#include <pthreadh>
#include <locale.h>
#include <cpuseth>
#include <stdlib.n>

#include <math.h>
#define CYCLE 1000
#define THREAD_NO 3

char *progname*lang;

volatile sig atomic_t loop_flag=1,GlobalCounter=0;
sigset t diset,oset.eiset;

#define TESTNUMBER 10000
#define MAXJITTER (30

pthread_cond t Condition[THREAD_NOJ;

#define COND_SIGNAL pthread cond signal
#define COND _WAIT pthread_cond wait
pthread mutex_t Mutex[THREAD_NO];

#define MUTEX LOCK pthread mutex_lock
#define MUTEX_UNLOCK  pthread_mutex_unlock

int Event[ THREAD _NO1={0,0,0};

float SwitchTime1[TESTNUMBER/2];

float SwitchTime2[TESTNUMBER/2];

float Interval Time[TESTNUMBER];

struct timespec StartTime={0,0}EndTime={0,0};
struct timespec CurrrentTime={0,0};

void
readtime(struct timespec *nowtime)

clock_gettime(CLOCK_REALTIME nowtime);
void
adjust(struct timespec *start,struct timespec *finish, float *realtime)
int Sec,NSec;
sec = finish—>tv_sec — start—>tv_sec;
nsec = finish—>tv_nsec — start—>tv_nsec;

i{f (nsec<0)

sec —;

| nsec += 1000000000;
*realtime = (float)(nsec/1000)+(float)(sec*1000000);

timer t
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create_posix_timer{int signum,int sec,int nsec)

}

static struct sigevent event;
static timer_t timer,;
static struct itimerspec itspec;

/* Create the POSIX timer to generate signum */
event.sigev_notify = SIGEV_SIGNAL;
//event.sigev_notify = SIGEV_THREAD,;
event.sigev_signo = signum;
if (ti{mer_create((cIockid_t)CLOCK_REALﬂM E &event,&timer)=(-1))
forintf(stderr, ”create_posix timer() Cannot create timer — %s¥n”,
strerror{ermo));
retun ((timer t)-1);

/% Set the initial delay and period of the timer.
This also arms the timer */
clock_gettime(CLOCK_REALTIME &itspec.it value);
itspec.it_valuetv_sec += 1;
itspec.it_interval.tv_sec = sec;
itspec.it_intervaltv_.nsec = nsec;
P‘ (timer_settime( timer, TIMER_ABSTIME, &itspec, NULL)=(-1))

retum ((timer t)-1);

return(timer);

void interval_hadler(int sig)

#ifdef DEBUG

printf(”interval_hadler(%d)¥n” GlobalCounter);

#endif

if(Event[0]'=THREAD NO) return;

readtime(&StartTime);
if(CurrrentTime:tv_sec)
{

]

CurrrentTime.tv_sec = StartTime.tv_sec;
CurrrentTime.tv_nsec = StartTime.tv_nsec;
switch(GlobalCounter%10)

{

adjust(&CurrrentTime &Start Time &lntervalTime[ GlobalCounter]);

case 0:

MUTEX_ LOCK(&Mutex[1]); /* lock */
Event[1]++
COND _SIGNAL(&Condition[1]);

MUTEX_UNLOCK(&Mutex[1]); /* unlock */

break;
case 1:

MUTEX_ LOCK(&Mutex[2]); /* lock */
Event[2]++
COND_SIGNAL(&Condition[2]);

MUTEX_UNLOCK(&Mutex[2]); /* unlock */

break;
case 2

MUTEX_LOCK(&Mutex[1]); /* lock */
Event[1]++
COND_SIGNAL(&Condition[1]);

MUTEX_UNLOCK(&Mutex[1]); /* unlock */

break;
case 3:

MUTEX LOCK(&Mutex[2]); /* lock */
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Event[2]++
COND_SIGNAL(&Condition[2]);
MUTEX_UNLOCK(&Mutex[2]); /* unlock */

break;
case 4:

MUTEX_LOCK(@Mutex[1]); /* lock */
Event[1]++
COND_SIGNAL(&Condition[1]);

MUTEX_UNLOCK(&Mutex[1]); /* unlock */

break;
case 5:

MUTEX_LOCK(@Mutex[2]); /* lock */
Event[2]++
COND _SIGNAL(&Condition[2]);

MUTEX_UNLOCK(&Mutex[2]); /* unlock */

break;
case 6:

MUTEX_LOCK(@Mutex[1]); /* lock */
Event[1]++
COND_SIGNAL(&Condition[1]);

MUTEX_UNLOCK(&Mutex[1]); /* unlock */

break;
case T:

MUTEX_LOCK(@Mutex[2]); /* lock */
Event[2]++,
COND_SIGNAL(&Condition[2]);

MUTEX_UNLOCK(&Mutex[2]); /* unlock */

break;
case 8:

MUTEX_LOCK(@Mutex[1]); /* lock */
Event[1]++
COND_SIGNAL(&Condition[1]);

MUTEX_UNLOCK(&Mutex[1]); /* unlock */

break;
case 9:

MUTEX_LOCK(@Mutex[2]); /* lock */
Event[2]++,

COND _SIGNAL(&Condition[2]);

MUTEX_UNLOCK(&Mutex[2]); /* unlock */

| break;
GlobalCountert++,

void *thread_ mainO(void *arg)

int class = 3; /* FIFO Schedule */
int priority = 1; /* RealTime Priority min */
struct sched param param; /* RealTime Priority min */

cpusett *kcpumask;

cpu t cpu=1;

volatile int thread_no;

int i,sig;

float min,max,avr,

struct timespec w0 = {0,100 * 1000 1000},

struct timespec wait = {0,200% 1000};

sigset t set;

sigemptyset(&set);
sigaddset(&set, SIGRTMIN+2);
sigaddset(&set, SIGINT);
i{f (pthread getschedparam(pthread self(),&class &param))

forintf(stderr, “pthread %d Cannot get priority %s¥n”,
pthread_self(),strerror{errno));

60



}

param.sched_priority = priority;
if (pthread_setschedparam(pthread_self(), SCHED_FIFO,(const struct sched_param *)&param))

forintf(stderr, “pthread %d Cannot set priority %s¥n”,
pthread_self() strerror(erro));

]
#ifdef CCURRT
cpumask = cpuset alloc();
cpuset init(cpumask);
cpuset_set_cpu(cpumask,cpu,1);/* 2nd CPU set */
i{f ( mpadvise(MPA_PRC_SETBIAS,MPA TID,0,cpumask)<0)

forintfstderr, “thread %d Cannot bind processor %s¥n”,
pthread_self(),strerror(errno));

if (mpadvise (MPA PRC_GETRUN,MPA TID,0,cpumask)’=MPA _FAILURE)
{

char * cpustr;
cpustr = cpuset_get_string(cpumask);
printf”Thread %d is ¥ %s¥" running¥n” *(int¥)arg,cpustr);
free(cpustr);

cpuset _free(cpumask);

#endif

MUTEX_LOCK(&Mutex[0]);

Event[0]++,

MUTEX_UNLOCK(&Mutex[0));

Eio
MUTEX LOCK(&Mutex[0]);
thread_no = Event[0];
MUTEX_UNLOCK(&Mutex[0]);
nanosleep(&w0,0);

} while (thread_no<THREAD_NO);

P‘ (pthread_sigmask(SIG_SETMASK &eiset &oset)=(-1))

forintf(stderr, “Cannot set sigprocmask — %s¥n”,
strerror(ermo));

//sigwait(&set &sig)interval_hadler(sig);
sigsuspend(&eiset);
if(GlobalCounter>=TESTNUMBER) loop _flag=0;
} while (loop_flag);
COND _SIGNAL(&Condition[1]);
COND_SIGNAL(&Condition[2]);
min=99999999999.0,max=0,avr=0;
{or(i=0;i<T ESTNUMBER/2;i++)
ifimin>SwitchTime1[i]) min = SwitchTime1[il;
iflmax<SwitchTime1[i]) max = SwitchTime1[il;
avr += SwitchTime1[i;

]

printf(” Switch1 %10.3f: %10.3f : %10.3f%t” min,avr/(float TESTNUMBER/2)max);
if (fabs(max—min)<=MAXJITTER)
{

printf(” GOOD(fabs(%f)<%d micro sec)¥n” max—minMAXJITTER);
else

printf” FAIL(fabs(%f)>%d micro sec)¥n” max—minMAXJITTERY);
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min=99999999999.0,max=0,avr=0;

{or(i=0;i<T ESTNUMBER/2;i++)
ifimin>SwitchTime2[i]) min = SwitchTime2[il;
iflmax<SwitchTime2[i]) max = SwitchTime2[i];
avr += SwitchTime2[il;

]

printf(” Switch2 %10.3f: %10.3f : %10.3f%t” min,avr/(float TESTNUMBER/2)max);
if (fabs(max—-min)<=MAXJITTER)
{

printf(” GOOD(fabs(%f)<%d micro sec)¥n” max—minMAXJITTER);
else
printf” FAIL(fabs(%f)>%d micro sec)¥n” max—min MAXJITTERY);
min=99999999999.0,max=0,avr=0;
for(i=1;< TESTNUMBER;i++)
{
ifimin>IntervalTime[i]) min = IntervalTimel[i;
iflmax<IntervalTime[i]) max = IntervalTimel[il;

avr += IntervalTimel[i];

}

printf(“Interval %10.3f: %10.3f : %10.3f% "~ min,avr/(floatX TESTNUMBER-1),max);
if (fabs(max—min)<=MAXJITTER)
{

printf(” GOOD(fabs(%f)<%d micro sec)¥n” max—minMAXJITTER);
else

printf(” FAIL(fabs(%f)>%d micro sec)¥n” max—min MAXJITTERY);

return(0);

void *thread_main1(void *arg)

static int err=—1;

int class = 3; /* FIFO Schedule */

int priority = 2; /* RealTime Priority min */

static struct sched param param; /* RealTime Priority min */

cpusett *kcpumask;

cputcpu=1, /* boot PROCESSOR */

if (pthread getschedparam(pthread_self() &class,&param))
{

forintfstderr, “thread %d Cannot get priority %s¥n”,
pthread_self(),strerror(errno));
}
param.sched priority = priority;
if (pthread setschedparam(pthread self(), SCHED_FIFO(const struct sched param *)&param))
{
forintf(stderr, “thread %d Cannot set priority %s¥n”,
pthread_self(),strerror{errno));

P‘ (pthread_sigmask(SIG_SETMASK &diset,&oset)—=(-1))
forintf(stderr, “Cannot set sigprocmask — %s¥n”,

strerror(ermo));
err = ermo;
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pthread exit((void*)&err);

}
#ifdef CCURRT
cpumask = cpuset alloc();
cpuset_init(cpumask);
cpuset_set_cpu(cpumask,cpu,1);/* CPU set */
i{f ( mpadvise(MPA PRC_SETBIAS MPA TID,0,cpumask)<0)

forintf(stderr, “thread %d Cannot bind processor %s¥n”,
pthread_self() strerror{ermo));

P‘ (mpadvise (MPA PRC_GETRUN,MPA TID,0,cpumask)=MPA FAILURE)

char * cpustr;
cpustr = cpuset _get string(cpumask);
printf”Thread %d is ¥ %s¥” running¥n” *(int*¥)arg,cpustr);
free(cpustr);

cpuset free(cpumask);
#endif
MUTEX_LOCK(&Mutex[0]);
Event[0]++,
MUTEX_UNLOCK(&Mutex[0));
do

MUTEX_ LOCK(&Mutex[1]); /* lock */
if(Event[1]=0) COND_WAIT(&Condition[1],&Mutex[1]);
readtime(&EndTime);
if (GlobalCounter<TESTNUMBER)

adjust(&StartTime,&EndTime,&Swit[c?Time1 [GlobalCounter/2]);

Event[1]—;

MUTEX_UNLOCK(&Mutex[1]); /* unlock */

/* event1_exec(); */

} while (loop_flag);

en=0;
pthread_exit((void *)err);
return(0);
void *thread_main2(void *arg)

static int err=1;

int class = 3; /* FIFO Schedule */

int priority = 3; /* RealTime Priority min */

struct sched param param; /* RealTime Priority min */

cpusett *kcpumask;

cputcpu=1; /* 2nd PROCESSOR */

if (pthread_getschedparam(pthread_self() &class,&param))
{

forintf(stderr, “thread %d Cannot get priority %s¥n”,
pthread_self(),strerror(errno));

]
param.sched_priority = priority;
if (pthread_setschedparam(pthread_self(), SCHED_FIFO,(const struct sched_param *)&param))

forintf(stderr, “thread %d Cannot set priority %s¥n”,
pthread_self(),strerror{errno));

if (pthread_sigmask(SIG_SETMASK &diset,&oset)=(-1))
{

forintf(stderr, “Cannot set sigprocmask — %s¥n”,
strerror(ermo));
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err = ermo;
pthread exit((void*)&err);

}
#ifdef CCURRT
cpumask = cpuset_alloc();
cpuset_init(cpumask);
cpuset_set_cpu(cpumask,cpu,1);/* CPU set */
i{f ( mpadvise(MPA_PRC_SETBIAS MPA _TID,0,cpumask)<0)

forintfstderr, “thread %d Cannot bind processor %s¥n”,
pthread_self(),strerror{errno));

if (mpadvise (MPA_ PRC_GETRUN,MPA TID,0,cpumask)'=MPA FAILURE)
{

char * cpustr;
cpustr = cpuset get string(cpumask);
printf(” Thread %d is ¥ %s¥~ running¥n” Xint¥)arg,cpustr);
free(cpustr);

cpuset_free(cpumask);
#endif
MUTEX_LOCK(&Mutex[0]);
Event[0]++
MUTEX_UNLOCK(&Mutex[0]);
FO
MUTEX_LOCK(&Mutex[2]); /* lock */
if (Event[2]=—0) COND _WAIT(&Condition[2] &Mutex[2]);
readtime(&EndTime);
if (GlobalCounter< TESTNUMBER)
adjust(&StartTime &EndTime,&SwitchTime2[GlobalCounter/2]);
Event[2]—;
MUTEX_UNLOCK(&Mutex[2]); /* unlock */
/* event2_exec(); */
} while (loop_flag);

pthread exit((void *¥)err);
return(0);

void  *(*thread main[THREAD_NO])(void *arg) =

thread main0,
thread_mainf,
thread_main2

do_main(progname fdin filename,opt)
char *progname;

FILE *fdin;
char *filename;
int opt;

static int  nojthread status[ THREAD _NO] thread_argl THREAD_NOJ;
static pthread.t tid[THREAD _NO;
static pthread attr t  attributes THREAD NOJ;
void *status_p;
int signum;
static struct sigaction newact;
static sigset_t set,oset;
static timer_t timer id,
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printf{“ekiskiiickieliiickieliicisiieiiiiskioiiiislieolicoiooliolott ¥n"),
printf{ "tk posix timer & thread contexst switch test tekok ¥n™);

printf(” fototok ¥n”);

if (opt)
{

system(”/usr/bin/shield —a 17);
system(”/usr/bin/shield —¢”);

P‘ (sigorocmask(O,NULL &set)=(-1))

forintfstderr, “%s: Cannot get sigprocmask — %s¥n”,
progname,strerror(enmo));
exit(1);

}
sigaddset(&set, SIGRTMIN+2);
P‘ (sigprocmask(SIG_SETMASK &set,&oset)=—(-1))

forintf(stderr, “%s: Cannot set sigprocmask — %s¥n”,
progname,strerror(ermno));
exit(1);

}
signum = SIGRTMIN+2;
printf(” Create POSIX timer %d Hz¥n" ,CYCLE);
timer id = create_posix_timer{signum,0,1000000000/CYCLE);
i{f (timer_id<0)

forintf(stderr, “%s: Cannot set posix timer — %s¥n”,

progname,strerror(ermno));
exit(1);

/* Set up the signal handler using sigaction(2) or sigset(2) */
sigemptyset(&newact.sa_mask);
sigaddset(&newact.sa_mask,signum);

newact.sa_handler = interval_hadler;

newact.sa flags = SA SIGINFO|SA RESTART:

if (sigaction(signum, &newact, 0)—=(-1))

forintfstderr, “%s: Cannot set sigaction — %s¥n”,
progname,strerror(enmo));
exit(1);

sigfillset(&diset);
sigfillset(&eiset);
sigdelset(&eiset, SIGRTMIN+2);
sigdelset(&eiset, SIGALRM);
sigdelset(&eiset,SIGINT);

printf(” Create %d thread¥n” THREAD NO);
for (no=0:no< THREAD _NO:no++)
{

i{f (pthread_cond init(&Condition[no],0)<0)

forintf(stderr, “%s: Cannot create condition — %s¥n”,

progname,strerror(enmno));
exit(1);

i{f (pthread mutex_init(&Mutex[no],0)<0)

forintf(stderr, “%s: Cannot create condition — %s¥n”,

progname,strerror(enno));
exit(1);
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}
Event[no]=0;
]
for (no=0:no<THREAD_NO:no++)
{
if (pthread attr init(&attributes[no)))

forintf(stderr, “%s: Cannot set attributes — %s¥n”,
progname,strerror(enmo));
exit(1);

if (pthread attr setscope(&attributes[no] PTHREAD_SCOPE_SYSTEM))

forintf(stderr, “%s: Cannot set attributes — %s¥n”,
progname,strerror(enmo));
exit(1);

if (pthread attr setdetachstate(&attributes[no] PTHREAD CREATE_JOINABLE))

forintf(stderr, “%s: Cannot set attributes — %s¥n”,
progname,strerror(enmo));
exit(1);

}
if (pthread attr setinheritsched(&attributes[no] PTHREAD_INHERIT SCHED))

forintf(stderr, “%s: Cannot set attributes — %s¥n”,
progname,strerror(enmo));
exit(1);

}

}

MUTEX_LOCK(&Mutex[0]); /* lock */
for (no=1:n0< THREAD _NO;no++)

{

thread_arg[no] = no;
thread_status[no] = pthread create(&tid[no] &attributes[no] thread_ main[no],(void *)&thread_arg[nol);

if (thread_status[no])

forintf(stderr, “%s: Cannot create thread — %s¥n”,
progname,strerror(enmo));
exit(1);

]

}

MUTEX_UNLOCK(&Mutex[0]); /* unlock */
thread_arg[0] = 0;

thread main[0]((void *)&thread arg[0]);
timer _delete(timer id);

for (no=1:no< THREAD _NO:no++)

{
pthread join(tid[no] &status p);
}
main(arge, argv)
int argc;
char **argv;

extern int ermo;
extern int optind;
extern char *optarg;
register int i,c, opt = 0;

progname = argv[0];

while((c = getopt(argc, argv, “b”)) = EOF)X
switch(c) {
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case b"
opt =1;
break;

default:
forintf(stdetr,
“usage: %s [-bJ¥n”,
progname);

| exit(1);

if (optind = argc) {
do_main(progname,stdin, “(stdin)” opt);
}else {
register FILE *fd;
for (c = optind; ¢ < argc; c++) {
if (fd = fopen(argvlc], “w”)) = NULL) {
fprintf(stderr,
“%s: ¥ %sY” %s¥n”,
progname,argvic],strerror(enmo));
} exit(1);
do_main(progname,fd,argvicl,opt);
forintf(fd,”Interval, Switch1,Switch2¥n”);
{or(i=0;i<T ESTNUMBER/2;i++)

forintf(fd,”%f %f %f¥n” Interval Time[i+1], SwitchTime1[i], SwitchTime2[il);
for(FTESTNUMBER/2,;K TESTNUMBER-1;i++)
{ forintf(fd,”%f, ¥n" IntervalTime[i+1]);
fclose(fd);

SSE/SSE2 &5 %y X
gee TIXERSNEWN, 1=, 154072 T5%ERT S,

]
{or(iZO;i<32;i'H')

v2[0] += vO[i] * v1[i];
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SSE/SSE2

//RYDFBEEEAER DT A AVNIEE)
typedef struct { double v[32]; } vector _attribute_ ((aligned (16)));

vector vVOv1,v2;

_inline_sse_add mul_vector(v2NON1)// A5 A FERT %

// 7 IS T2 x 2T —42@E8EIETE T %
#define _inline_sse_add mul_vector(vO,v1,v2) ¥

{¥ //T—H0IT7—50—4DFERERANTED
_asm__volatile_ (” prefetchtO %0 ¥n¥t” ¥

xmmO

“movapd %0, %%xmm0 ¥n¥t”
“movapd %1, %%xmm1 ¥n¥t”
“movapd %2, %%xmm2 ¥n¥t~
“movapd %3, %%xmm3 ¥n¥t”
“movapd %4, %%xmm4 ¥n¥t”
“movapd %5, %%xmmb ¥n¥t”
“movapd %6, %%xmm6 ¥n¥t”
“movapd %7, %%xmm7 ¥n¥t”
“mulpd %%xmm4, %%xmm0 ¥n¥t”
“mulpd %%xmm5, %%xmm1 ¥n¥t”
“mulpd %%xmm6, %%xmm?2 ¥n¥t”
“mulpd %%xmm7, %%xmm3 ¥n¥t”
"addpd %%xmm1, %%xmm0 ¥n¥t”
"addpd %%xmm3, %%xmm2 ¥n¥t”
“addpd %%xmm2, %%xmm0 ¥n¥t”

“prefetcht0 %4 ¥n¥t” ¥

WK K K K K K K

¥

¥

“m” (VO)->v[0]),

“m” (VO)->v[2)),
m” (VO)->v[4]),

“m” (VO)->v[6]),

“m” ((v1)->v[0]),

“m” (V1)->v[2)),

“m” (v1)>v[4)),

“m” (VI)>v[6]); ¥

WK K K K K K

_asm__volatile_ (“movapd %0, %%xmm1 ¥n¥t” ¥

N

“movapd %1, %%xmm2 ¥n¥t” ¥
“movapd %2, %%xmm3 ¥n¥t~ ¥
“movapd %3, %%xmmb5 ¥n¥t” ¥
“movapd %4, %%xmm6 ¥n¥t” ¥
“movapd %5, %%xmm7 ¥n¥t" ¥
“mulpd %exmmb, %%xmm1 ¥n¥t”

mulpd %%xmmB, %%xmm2 ¥n¥t”
mulpd %%xmm7, %%xmm3 ¥n¥t”
"addpd %xmm1, %%xmm0 ¥n¥t”
addpd %%xmm3, %%xmm2 ¥n¥t”

“addpd %%xmm2, %%xmm0 ¥n¥t”
¥

¥

“m” (VO)->v[8]), ¥

“m” (VO)->v[10]), ¥

“m” (VO>V[12]), ¥

“m” (vi)>v[8]), ¥

“m” ((v1)->v[10]), ¥

“m” (vI)V12D); ¥

_asm_ _volatile_ (“movapd %0, %%xmm1 ¥n¥t" ¥

“movapd %1, %%xmm?2 ¥n¥t” ¥
“movapd %2, %%xmm3 ¥n¥t” ¥
“movapd %3, %%xmmb ¥n¥t” ¥
“movapd %4, %%xmm6 ¥n¥t” ¥
“movapd %5, %%xmm7 ¥n¥t” ¥

KK K KK K K

¥
¥
¥
¥
¥
¥
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/T ITTIF

/1 FT)ITIF
// T—30HA VO(V[O]v1])
//T—3 1A VO(V[2]v3])
//T—32LA VO(V[4]v[5)
/7 T—33HA VO(vB[v[7])
//T—34KA VIVOIvT])
/T35 A V2(v[2]v3])
//T—364KA V2(v[4]v[5)
//T—37HAV2VI6IVT])
//T—R0=T—%4 x T—730
//T—B1=T—35xT—41
//T—R2=T—RA6 X T—42
//T—R3=T—HR7 X T—433
//T—30=T—314+T—%0
//T—82=T—R3+T—42
//T—R0=T—4R2+T—430 NEHFERIL

//T—R0EE
//T—81E5
// 7_72 BH5
//T—’;'lS_
//T—34E8
//T—R5EE
//T—HR6EE
//T—RTEE

//EIRRIZ VI8IMS VIIBIETHET S

//INEFERIE xmm0
//INEHERIE xmm0

//ERRIZ V14155 VI19]E T



“mulpd %%xmmb, %%xmm1 ¥n¥t” ¥
“mulpd %%xmm6, %%xmm?2 ¥n¥t” ¥
“mulpd %%xmm7, %%xmm3 ¥n¥t” ¥

"“addpd %%xmm1, %%xmmO0 ¥n¥t” ¥ //INEFERIE xmm0
“addpd %%xmm3, %%xmm?2 ¥n¥t” ¥

“addpd %%xmm?2, %%xmm0 ¥n¥t” ¥ //INEFERIE xmm0
¥

¥

“m” (VO)->v[14]),
“m” (VO)->v[16]),
“m” (VO)->v[18]),
“m” (v1)>v[14]),
“m” ((v1)>v[16]),
“m” (VI)>v[18]); ¥

_asm_ _volatile_ (“movapd %0, %%xmm1 ¥n¥t" ¥ // BRI Z V[20]Hhv5 V[25]FE T
“movapd %1, %%xmm2 ¥n¥t” ¥
“movapd %2, %%xmm3 ¥n¥t” ¥
“movapd %3, %%xmmb ¥n¥t” ¥
“movapd %4, %%xmm6 ¥n¥t” ¥
“movapd %5, %%xmm7 ¥n¥t” ¥
“mulpd %%xmm5, %%xmm1 ¥n¥t” ¥
“mulpd %%xmm6, %%xmm2 ¥n¥t” ¥
“mulpd %%xmm7, %%xmm3 ¥n¥t” ¥

#H K K K

“addpd %exmm1, %%xmm0 ¥n¥t” ¥ //INEFERIE xmm0
“addpd %%xmm3, %%xmm?2 ¥n¥t” ¥

"addpd %%xmm2, %%xmmO0 ¥n¥t” ¥ //MNEHERIE xmm0
¥

¥

“m” (V0)->v[20]),
“m” (VO)->v[22]),
“m” (VO)->v[24]),
“m” (v1)->v[20]),
“m” (v1)>v[22)]),
“m” (V1)->v[24]); ¥

_asm_ _volatile_ (“movapd %0, %%xmm1 ¥n¥t" ¥ //[EFRIZ V[26]M\5 VIB1]ET
“movapd %1, %%xmm2 ¥n¥t~ ¥
“movapd %2, %%xmm3 ¥n¥t” ¥
“movapd %3, %%xmmb ¥n¥t” ¥
“movapd %4, %%xmm6 ¥n¥t” ¥
“movapd %5, %%xmm7 ¥n¥t” ¥
“mulpd %%xmm5, %%xmm1 ¥n¥t” ¥
“mulpd %%xmm6, %%xmm?2 ¥n¥t” ¥
“mulpd %%xmm7, %%xmm3 ¥n¥t” ¥

#H K K K K

"addpd %%xmm1, %%xmm0 ¥n¥t” ¥ //MNEHERIE xmm0
“addpd %%xmm3, %%xmm?2 ¥n¥t” ¥

”addpd %%xmm?2, %%xmm0 ¥n¥t” ¥ //INEFERIE xmm0
¥

¥

“m” (vVO)->v[26]),
“m” (VO)->v[28]),
“m” (V0)->v[30]),
“m” (v1)->v[26]),
“m” ((v1)>->v[28]),
“m” (v1)->v[30D); ¥

#H K K K K

_asm__volatile_ (“movapd %%xmm0, %%xmm4 ¥n¥t” ¥ //xmm0 DT —%4% xmmd | ZFEE)
“unpckhpd %%xmm4, %l%xmmé4 ¥n¥t” ¥ //xmmd DT —H3%2 D25 %
“addpd %%xmm4, %%xmm0 ¥n¥t” ¥ /12202 T=T—R% &

“movipd %%xmm0, %0 ¥n¥t” ¥ //xmm0 DEZERT

¥
“=m"” (V2)->v[0])¥
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